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1) mwn

a) '131°9227 N5 oD AW 1KY
2) mooin as explained by x"wann

a) X"

i) The word "y1219" means that *52271 nn1> and the other items listed in the 7awn.
must be 121y — pass from existence — to avoid xg»> 521 R 92

b) xwp
i) maybe

(1) the word "pa2w" means that people are 121w an Mo°X if they’re 22 these
items

(2) and in fact there’s no 17 of 7%~ %2 that would require the items to be 121w
from existence

i) 1N
(1) Ifso
(@) the mawn should have used the phrase 1719 1121 12X to make clear that
(i) the nmawn means that
1. 19X — these are items that 12w — people are 12w an Mo
2. 1% — by being 921x them (the items)

(i) and the m1wn doesn’t mean that the items need to pass from
existence

c) n™
1) In fact the mawn uses the word 12w for the items in the sense of passing
ii) But
(1) the mynwn isn’t that they must pass from existence
(2) but is that they pass from availability to people on the 5w
(3) because the items are 79282 MoK
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1) nwn
a) Nnp Xinin the mwn
i) [Twpaynn] oovag Hw mam ... [Ynn n2vn] °22235 o .. 1092 P 1R
ii) Inshort awpi ynn and yan n21vn are 1892
b) rwHR '
1) W7 wwIn AR
i) We’ll show below that there are two 2°3%71 on precisely what 213°5% ' means
2) xn»M2at .n a7 as understood by a7 29
a) oK ' in the xn>12 holds that 7w yan is 0195 82 and ynan nawn is w52
3) mooin
a) here are two possible 0°5%71 on what 213°%% ' in the 72wn means to say
b) first 7omm
i) 2ryox " holds that
(1) although o*w1>v*wan aren’t Y1 N217vN and aren’t X212 based on y»n n21yn
(2) they’re W52 anyway because they count as nwpi ynn

ii) xwp of mooin to the first 7o



(1) We’ve established that qr¥°%% "1 in the Xn>>12 says that awpu yan is X592
17

c) second 727 on what 213°9% " means in the awn

i) 219R " explains that oowi sw>won are 1?2 because they count as yan n21vn
d) xwp of mooin to the second T%nn

i) Although 213°%x " for this 7271 doesn’t directly mention 7w yan

ii)  Still ary°%% '3 by saying ax clearly refers to the x»p xin and says

(1) First that he agrees with x»p ®1n who said o°vax 5w 111 are 18?2 because
they count as nwpi ynn and awpi yan is IR?2

(2) And second that he disagrees with x»p &in and says that o>w1 *v>wan are
X721 because they’re 11 n217wn and not because they’re W yan

iii) So the same x>wp that moaoin asked for the first 777 also applies to the second
T

(1) How can 213°9x "1 in the mawn agree with xnp Xin that awpi ynn is 92
when we know from the &n>>12 on .22 77 that 213°%x "1 holds that w1 yoan
is 0170 RD2

4) S"wann
a) Another x>wp to the second 7911 of mvoIn
i) Precisely how does q1y°%& "1 go beyond &»p Xin
ii) After all both agree that nwpi ynn and ynn n217vn are each 8?2
5) nmTpa to the &1 x9pw of H"wann and X"wHnn on a ya7°n to the xowp of "wonn
a) First TP
i) "M 7 pan navn" and "yian n21oyn" refer to ynn n21vn that’s not Awp
i) "pyanwpn" and "awpi yan" refer to nwpi ynan that’s not N2 w2
i) "mwpi n2wvn" refers to an item that’s 7w yun and is also yni n2wn
b) Second nn1pn
i) It’s more 1anon that awpi v is o2 than it is that nwpi nawn is k%2

ii) Similarly it’s more 12non that 73 ynn n217vn is w521 than it is that nawvn
WP IS IN?2

6) y1n of 2"wann to his ®°wp on what 913°5% " adds to the Rxnp Xin in the second 7% of
moon

a) The second 721 of mooin holds that
i) Both xnp xin and 2139 " agree that awpi ynn and ynan n2wn are each 1w»2
ii) Both xnp xin and 2139 ' also agree that owi *v>wan are 7w NN
iii) But



(1) While xnp Xin says that 7w n217yn isn’t 1852
(2) 2139 "1 in the mawn says o°wi *v*wan AR to teach that nwpi yan is wHa

7) R"wann

a)

b)

First x>wp to the y1°n of H"wn

i) if the second 771 holds that the word nx teaches for 213°9x ' that a person is
W92 for nwpu nayn

ii) then
(1) to ask its x°wp to the second 7% from 13°9R ' in the xn>2

(2) mooIn wouldn’t need first to derive that 21°%x "3 holds that nwp ynn is
Al

(3) And it would be enough for maoin to ask that
(@) Since 71v°%x " says in the xn>1a that nwpi yan is 0192 892
(b) Tt can’t be that 71¥°% " in the mawn holds that 7w n2vn is w52
Second x°wp to the y17°n of H"wnn

i) 1It’s ynwn from the words of the second 72 of mooin that mooin reads "ax" as
referring to the same nwpu that mooin referred to in the first 751 namely
"1y WP

8) 117°n of X"wann to the ®wp of 2"w-nn to the second 7%an of mooin

a)

b)

In fact moon in both 2°3%:7 holds that neither 2ry°9x " nor ®np Xin deals with
7wpi nawvn at all and both would agree that 7w navwn is 0175 892

They disagree only in the 7 of 2°w1 *v*wan in that
i) For the first 750

(1) X»p Rin says o°w1 “v>Wwan isn’t 172 because it’s neither 7w y2am nor
Y7 NN

(2) While 213°9x ' says that o°wi *v>wan is 72 because it’s WP v

i) While the second 7271 adds for 213°9x " that it’s also possible that o*w1 *v>won
IS 1?2 — not because it’s WP Y11 but because it’s yan 21N

Now note that

i) The plain meaning of the words of 21v°%& "1 in the second 727 might be taken
to mean the he holds that y»n n217wvn is W22 and nwpi yan is 0175 892

i) That’s why
(1) in order for m»oin to ask its xowp from v Hx " in the xn>>12
(2) mooIn needs first to explain that the word "ax" teaches

(@) that 213°9x "7 actually holds that mwpi yan is 1892 the same as nawn
TR is W92



(b) So that
(i) if w1 vwon is nwpu yan it’s XY is based on nwpi yan
(i) if w1 v won is ynn NN it’s XY is based on yni n2wvn
d) xwp

i) xn7Hvaand 1" in the next M2°7 at 1719°0 17"'7 agree with the mww of H"wmn
that xnp Xin says that 7wp na1wn is 2125 892 while 1yoHx " says that na1yn
WP IS W72

e) yn

i) Txn vaand 1" use this approach because mxni Hva uses it as the base for a
T17°n to a Xowp by msoin that X"wHnn is 9R2n in that next 207

ii) but
(1) since we’ll establish in that m12>7 that m»oin doesn't rely on the y17°n of Hya
RN

(2) There’s no need to say pri7a that mooin here follows the v w of 2xna Y2
and 1"
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1) nwn

a) Nnp XN — 090 YW 1P IS Wh2

b) 21HR " — w1 v won is also 1R%2
2) X

a) "omoo Hw IR are "orwy mina v 1290n" that the ovwy nmiaa are mown for nia
alb

3) "wn
a) ToRw
i) Why doesn’t the &»p x1n deal with 1919°v that o»*1v m12 make for themselves
b) nawn
i) oWy na Hw 190w are made of N0 that’s awp ynn
i) But 1790 of o*»1v nia are made of 70 and have no y»n at all
4) xnn oyaand 1M
a) First xowp
i) Since 2wy 2 W 17 does have n?o that’s awpi ynn

i) Why doesn’t the Xnp Rin deal with 193 of 2wy nmia while it’s still used by
the 0wy mia

b) 10 of xna Hya and 1"
i) part 1 as explained in the prior :12>7
(1) xnp Rin says that
(@) mwpr panis k22 and ynn NN is P2 but awpi n2vn is o190 K92



(b) 71v°ox "1 says that gwpi n21wn is also 152
i) part2

(1) 2wy miaa are 27wn additional 1919°0 to N0 so that their 1937 is n21yn
owpn

(2) but
(@) when o>2>wy miaa are mwi the remnants of their 1739 to 01w a2

(b) the o»1y n11a add N0 without other 1"919°0 so that their 1217 is ynn
7wpi and isn’t AW NV

c) part3
i) It follows that
(1) xmp XN

(@) can’t deal with 17 that o>>>wy nmia use for themselves because that
1237 is w1 n21wvn that x»p Xan holds is 2190 X92

(b) and can only deal with o>7910 w 1737 of 21w nia that’s WP yon

(2) While 213°9x "y who says that 7w n2wn is also 1872 can deal with all
o°w1 >wwon including o>7°wy Maa 5w 19y that’s 7wp NN

5) nmooin as explained by x"wann here and in the prior m12°7
a) Nwp
i) in what way is 21910 5w 917 that’s mentioned by the &»np xin different from
0°w1 °vwon that’s mentioned by oK "
b) v
i) 000 W 173 means o°wi Hw 1219°0 that’s used for 79¥n YW 010 and isn’t ©°X»
75 93 — that’s why RXnp Rin agrees it’s 152 the same as other 7w ynn

il) owivwon is used for nun Sw 01 and is *ov ©°&n — that’s why here X»np Xin
and ry°9x "1 disagree namely &»np Xin says it’s not W72 even though it’s ynn
7w while aryooR ' says oowa v waon is still k%2 and it makes no difference
that o°wi >v>won is 75 75 o°xRn

c) Note that it’s obvious that maoin disagrees with mx»i v and 7" who say that
o°w1 *vwan differs from o°1910 Hw 1737 for the other reason we mentioned earlier —
namely that o>w1 >v>wan in fact includes o*7°wy n11a Hw 171p that they use for
themselves and is w11 n21wn that’s 2193 X722 for the Xnp Xin while o910 v 1999
is 1°v2 nwpn that’s W72 also for Xnp Xin

6) X"wann
a) Xwp
i) We’ve established that mo0In doesn’t follow the v w of xnn Sv2 and 1"
ii) Now



(1) Even though we’ve explained for maoin the 77p1 of the np1omn between
Xnp Rin and TrvoR M

(2) Still

(@) the xwp that 7 xni Yva and 7" asked— why doesn’t &np Xin deal with
oPwy maa w1y that they use themselves — and answered by saying
that o>>>wy nmia 5w 17p that they use for themselves is w1 nawn
that’s 0192 &72 for Xnp Rin

(b) is still a x>wp for moon
b) v n
i) moown holds that

(1) p of o>>wy maa uses a3 yrn that’s n732 and
(@) since the mwn lists only items that are 52
(b) neither x»p Xin nor 713°9x% "1 can deal with o> wy naa v 12p

(2) But
(@) Once ovwy nmiaa are m»wn their 17p to 0»1w N2
(b) the o»1y n11a add 70 to the 1737 and resulting 2190 is nwpi ynn

(i) Both for om0 Hw 1219 that’s not 72 92 o°k» and is 1>2 even for xin
Xnp

(if) And for ow1 *w>wan that’s *5v 0°&n and is 1872 only for A1y 7% "

10
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1) opos
a) 179KN RS n¥Hann 9
b) nn7om yan HoR 950
C) N5 N¥HIN DR 9 0
2) Second mnTpi
a) 117y is the same as yan n21vn
3) Third an7pi
a) ry°ox " holds that vy is w>a
4) mp»2 of 71yoox ' as explained by the xana
a) The mynwn of "%axn &2 neann 92" is an 7R for Ank 227 nnnn yannl

11



b) The "92" in "%58n &2 n¥nnn 20" teaches that 8?2 1217y
c) The mynwn of "an1on nenma 9% 93 03" is that there is N> for Ank 227 N yanm
5) X
a) Nwp
i) Why don’t we also derive from "n721 ngann 921 92 03" that 12177y is N3
b) v n
i) From "nnnom ynn 991R 95 °0" we know that 12179 isn’t n122
i) we’ll see below that there is a 2>2w&" npYoma precisely how this 7% works
C) oRW
i) What do we derive from %5 in "n9511 n¥nnn DR 5 00"
d) mawn
i) From that > we derive that y»r is Mok also to 0w
6) moown at 2o X7 "7 0N L AT
a) Nwp

i) The xn1 has explained why n23 for 1217°v can’t be derived from the %3 in 53>
akdaigtaliridhs

ii) But why doesn’t the X7n3 ask that we ought to derive n95 for 1217y from the %5
in 7051 yan 91K 93 9

b) x"wann will explain below how this &*wp of mpoin fits with what we just now said
that from ";1n7231 Y 9238 %5 02" we know that 1217y isn’t n122

7) wnn of the X
a) Nwp
i)  Why do you need a "12>1 for o>wi from 07521 nxann 9918 "93" 00
i) When "y qwR qwR R wR" is qwrb wR mwn for 7mnaw pwny 9
b) v
i) The m2°1is needed because | might otherwise say that
(1) o°w1aren’t 21 for nxn that’s a XnM) AW WY NXN
(2) And a wpen from nxn to yan teaches that the = o applies also to ynn
c) Nwp
1) DmoRn

i) Why do you apply the %> in "ngnma 92 95 °2" to teach that the moox of yan
applies to o°w1 instead of to teach that 1217y is 732

8) =wni %ya and 1" as explained by X"wonn

12



a)

We established in the nin7pi that the min>>2 derive from ";n9511 v 9918 2 %"
that that there’s no na> for 1217°w

b) This is how the 7% works
i) The word nxnnn has the mynwn of AnX 227 nann yann:
ii) Now
(1) Once we derive from the mynwn of 707511 xRN H2IR 93 95 that there is N>
even for iR 127 nann yann:
(2) it’s a Mu>w» that there’s N5 for ey nama yanni and that ynan 918 %5 50"
"n951 isn’t needed to teach N> for 1"9°Rn yranna
(3) and it follows that ";1n7011 v 9231 52 95" is a Rn°
iii) we apply the xmn° as a v1y» to teach that there’s no n13 for 1217w
9) X"wann
a) First xwp to xna Hvaand 1"
i) How can the xa say n°1i oxn to ask why it is that from 7n7011 n¥nmn 2918 95 %0
we’re 0°w1 7271 instead of being n73% 1217°Y 7271
i) when according to mx»i Hva and 1" we’ve proved that 7107011 yan 9218 9393 S
a v that directly teaches that there’s no n13 for y21y
b) possible y17°n to the first x>wp to 1"1 and MxnI Hva
i) When the x 3 asks that “instead of being o°w1 72 for a W2 from 951% 53 3
7N7o1 N¥n why aren’t we N3 1217 7207
il) As part of this &x>wp the & nx also implicitly adds that “and why don’t we apply
07211 YAn 9o 72 00 as vven to be oowi vynan from na instead of as a wvn to
be 1217y vynan from N3~
C) X279 to the possible y17°n
i) "ynn 9o 95 20" deals with all people who are ynan 951 and can’t be used to be
vynn any people — including w1 — who are ynn 2o
ii) Besides there’s no reason to apply a 05 to be o°w1 vynn when our X723 holds
that the opposite is true: we need a 12> to be w1 7277 because of the wp»7 of
yan to nxn that would otherwise be o>wi vyian as the xn3 mentioned earlier
d) Second xwp to MRnn Sva and 1"

i) Refer back to the x>wp of m»poIn in 93>3 7"7 namely

(1) why doesn’t the x7m3x ask that we ought to derive n13 for 1217y from the 9>
iN 7072 yan 9218 9 00

i) now
(1) for mxni %va and 1" who say that ;1051 yian 923 92 03" is a direct vwn
that teaches that there’s no n7> for 12177y

13



(2) How can maoin ask that we ought to derive from %3 in the same oo that
there is n13 for 1217w

Third x>wp to x» 2va and 1"

i) Here are two proofs that the word "nxnrn" doesn’t itself have the mynwn of
IR 727 NNk YRnn:

il) First proof

(1) The x7nx in nyw 95 po says that the word "nxnnn" is vnwn "Nk 227 own"
only for 777 ' and that nwaw ' disagrees

(2) And it’s obvious from the & 13 there that the nin»>n2 we deal with here
were said by nwnaw "

iii) Second proof
(1) If the mn»2 here hold that the word "nxnann" is vawn "R 727 own"

(2) how could one of the mn>92 begin with the words XoX °% PR nxnnn"
"PORN Yannw

10) mvw of X"wann

a)

b)

This is what the mn>12 mean to say when they derive from ";n721 yan 9218 95 00"
that there’s no n13 for 12177y
Part 1
i) oKW
(1) Once the oo says 0101 v 221X 93 %> why does the 100 also need to say
N2 ¥ 9 90 0
i) mawn
(1) From 501011 ynan 9238 9393 I’d know only that there’s n12 for 19Rn yann
(2) But
(@) once we already know voxn ynarna from 0951 yan 91K 95 %0
(b) we realize that nxnnn 92 must teach that there’s n13 also for nnmn ynnni
IMX 927
(3) It follows that ynn 921% 93 %3 isn’t a kR0 that can be used to be vynn that
1217y isn’t N33
part 3

i) aoRw
(1) Then how do the mn>>1a derive that 1217°y isn’t N33
i) nawn

(1) simply because there’s no 71°2 available that would teach that o1& %5 5
vnn deals with anything other than y»n that’s “1°¥2 and isn’t 1217°y

iii) It follows that
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(1) any mn° from any m0s anywhere — including a 7% from the 55 in 952
van 9o or a T from the %3 in n¥ann 9% 95 — that teaches that 1217 is
noa

(2) wouldn’t be 1m0 a 7T1n°% from the mynwn of ynn 2518 95 °> that teaches that
1217y isn’t N2
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17x1 0" TN

R721 5o n0D 72 N7 YRR canvmb B XY RS ORT 'Y 19 1R 7''Ta
T T2 IDNT R ONMK 7OV TP A1 MRP KPR TN 297 2''0 Nt 2w
9277 A1 MRP KDY IND2 1217 DY R''NT 772 0InPT JAn1 27 NMRT RSN XNMI2
IND NIORT RER NRIPN2 D92 ROODT JODAWRD NI KD anTT 2R v TRl
SINPT R277 DAR 1" 1120 5 NP2 RITT RPN wOT DR D RN 702 NN
5'":7 2" N92% 59 2''R N21IWN2 N0 RDYDT JPRWRY NOMIT 15 NS wuY KT 9190
MIVPRY K2 1'' N920% A1 R N0 RO WP 'IENT DV RN12N JVRAWRD
YAR MI2YITN PR TI97R 9397 17 IND TITIND NP RWON2T T BERY T 1PNNINR2 N
S1N% M1 NI INRAT YR WOT WP PR TR NIRIR 1R 'R Inp 957 N

:2"'Y7Y 7171 27 NT20D 3T AR T RD TP TR TN 102 TN N

T PRAM ART R'D 190 J0DRRY ARP 119 99272 aA2 MDY non BoaT T
TARPTD 'OINT N2TD RAT W'OT RUWIPY SIOIWA TP 7MY RS2 NN MY ma
"2 Pam DaR 7OWR WP KRR a7 2 RRP XY 2"y 1" N0 Tnea

1) First nnTpn
a) ynnnvn is the same as 1y
2) Second TP

a) The mwn on .an 77 teaches first that y»n n21vn is w52 and afterwards teaches that
WP van is also W72

3) Third anTpn
a) 277X A7 27 says that yian navwn is i relative to nwpn
b) nm1 27 says that swpu yan is Mmn relative to ynn n2vn

4) Fourth mnpn
a) Here is a summary of three mn>na

y7an DN WP YRn
W92 PR "M 1872 'R ’OM12
WwHa TYHR " '2 XN
702 XY 9aR W92 '3 X3

5) R part 1
a) 27X 7 20

i) The xin of the 7awn on .an 77 is 9°X» Y who in '} &n>72 says that nwi ynm is
72

b) xwp
i) 'R ®n»™3adoesn’t say that yan n2wn is also k%2
c) y™n

i) Since 27 R 770 20 says that ynan n219wn is an it’s a 1w 5 that yan n21vn
is also w72
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6)

7)

8)

9)

X773 part 2
a) 7M1

i) The xin of the mawn on .a» 77 is rY°%% "y who in '2 Xn»>12 says that ynan n219yn
IS X732

b) xwp
i) 'axn1adoesn’t say that nwpi yian is also 1892
C) y™n

i) Since mn1 27 says that nwpi yan is M it’s a 1ow 93 for T1yooxr ' that yon
awp s also w2

Note from the following table that

a) It follows that for yam1 21 who says that 7w yan is Mnn it’s obvious from &n»12
'} that 2°&» "1 holds that 2195 &%2 1217w

b) Italso follows that for 27 & 777 27 who says that y»i n21wn is M it’s
obvious from 'a xn>1a that 213°%X "1 holds that 2195 852 qwpi

Y70 NN B gais]
0195 R72 1217V Jama 29 W92 WP RN " 172 'R ROMI2
AN AwPIT R MR
NAIYNT 29 WK TV 2
72 NWNT W'D NN
W2 N2WN | AW 27 MR AT 20 TPOR 2 RN

A7 NAYNT 0190 K72
NN AwPIT P 2
W92 TwpIT W'

nI02 XY 9aR w92 '\ ¥N*12

Twnn of the Xna
a) Since 3 Xn>92 says 1217y is 172 and doesn’t say that nwpi is WD

b) "\ Xn°>72 supports 27 R 777 21 because it’s only for 27 K 7717 27 that there’s
a 7w — namely the v w of 21 %X " — that 1217°9 is k%2 and nwpi is o192 892

mooIn
a) Nwp
i) maybe " Xn»12 agrees with am1 27 that awpi is nn

ii) so once "3 xn>1 teaches that 12177y is 122 we automatically know that nwpia is
also w2

b) v
i) 'x&n»92 teaches not only that w52 1217y but also that 1217°y isn’t N33
i) Now
(1) if 'x &xn>>12 were to hold that awpi is nn
(2) 1t should have taught
(@) Not only that there’s no n13 for 1217y that’s 2°p
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(b) But also that there’s no n1> for w1 even though it’s Mnn
10) X"wnn part 1
a) Nwp
i) why does the X3 need to go to 'x Xn>12a to support 297 KR 377 20

ii) why not use '2 xn>92 which the same as '» Xn»92 says that there’s a > for
n217vn and is silent on whether there’s a W? for w1 yan

b) y»n
i) Because for 'a xn»92 it may be true

(1) That swpa is 2van and that yama 27 is correct that a1v°%% " holds there’s also
a W for nwpn

(2) And
(a) Because '2 &n>1a doesn’t deal with n1> at all

(b) you can’t respond the way msoin did for "3 kn»92 that if Fwpi is nn
the xn>1a should have alerted us that there’s no n1> for wp as well
as for navyn

11) X"wAnn part 2
a) Nwp

i) Our mwn here says first that there’s a 18 for 1217y and second that there’s a
> for nwpn

ii) for yami1 27 this means that the 7awn is in 7 Y% 7> Ry 1 format
(1) Since it begins with the X1 that there’s a W% even for n21vn that’s p

(2) and then adds that it goes without saying that the same &7 applies to
nwpi that’s nn

iii) why doesn’t the mawn instead use the more common 37 AR 37 X2 format:
(1) by saying that
(@) not only is there a x> that applies for nwpi that’s Mnn
(b) there’s also a W7 for n217yn that’s 7°p
b) y1n

1) the mawn the same as '» Xn»72 teaches that there’s n1> neither for 1217°y nor for
Twpn

ii) and as concerns the X71p that there’s no n93 the 7%7n of the mawn is in fact in &
1 AR 11 format since it says that

(1) not only is there no n23 for n217wn that’s 2°p
(2) there’s also no N> for 7wp that’s Mnan
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:an q71

I"72IN2 'R 2T MU XN YT X770 2T

AT U7 @A ANDR 2T N AT T w2 Do KT 7'M [2 Ty an a7
BIOR 2192 WINPT DORYT ONDRL RTIADN VRIT XM PSP "D MwDR M NIown

NPT N2 Hnb 39 797 9BW o077 IRD INT 21N RRON 1R ¥ BT osn
HRY TR WDRD NIIOT AT 1TWT WA T 30099 70T KDY 10 TR WIR NRT

MR PRI 5'"op "D 2900 DORI2 TAUTIRT B0 Dar 1o PYDIN2 ORP 17''7a v'wana
T RWPIIA V0 RPOAY D152 2WIT RP P AT 12 9T Ian 2wId TN
TS 2OWIT YWD TWRT D2 JApRT NI 0maY "2 DR R RN 1T PRhoh
BT Hom @M 10201 R RS "D WIRY WK 2007 MW7 20 PR D8N D22
B 13 TR 23007 TIRTT PSR 97T 21 RO ROWHT 2w TN IvhT

1) X

a) a2 from 5 in "nno11 n¥nnn o8 95 00" is needed to teach that the nas waw for
v no°ox applies also to owa

b) xwp
i) why do we need this 121

ii) we already know from "1 1wy »3 nwR W woR" that 3% nwRS WX 2037 mwn
N Pwny

C) y™n
i)  Were it not for the »12>1 | would have said that
(1) oow1are mMwd from nxn because 787 IS @ R AW AWY NMXN
(2) And since ynr is 7xnh wopneX there isn’t even an 777K to owa for ynn
ii) But
(1) now that there’s a »12>1 that teaches that o°w1 are n932 for 787n no°OK
(2) we apply nwx? woR 23057 MwiT as an 7R to w1 on 7¥n NPOK
(3) And we’re then 17¥n w>pn to ynan to teach that o>wi are ma»nn on 7xn NPOKR
d) This also explains why

i) S"wain nwka pao says that yan Haxn 922 w0 0wl because of Wk 21037 Mwn
"1 7wK? and *"wn doesn’t say that o°w1 are ynan 2o8n 922 because of the »127in
our X3

i) namely because for the 771 we need to rely on o1 mwn
2) Mmoo
a) Nwp
i) If there were no »12» that was o°w31 2°°m on ynan n9ox
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(1) Why does the x»3 assume that we’d apply the 17 of X3 1w AWy nMxn
to be ow1 v from ¥n and that by wp°n to ynn we’d also be o°w1 v oNn
yran n92ox

(2) When it would have been more logical to use the xvmn» w1 to teach
from ynn that there is a 21n for 7¥» for o°w1 even though 7¥n is a nwy mxn
RN JATAw

b) v

i) if there were no »12°1 we’d have relied on a mw 77°1 from 7510 to 7xn to be
w1 “vd from ¥n and we’d then have been ynn wopn to %7 to be o°wi v»d oNn
T7An N97OR

3) X"wnan at X"70 7"7
a) Nwp
i) If we could rely on the mw 71 from 71210 to be o°w1 w1 from nxn

i) why does the & nx need to say that it’s because of a X1 ya1w Twy mxn that if
there were no "12°1 we’d have been 2°w1 901 0N XN

b) yn
1) It’s only because X7 IS a Xn7a yarw qwy nmxn that
(1) we’d follow the xmn%> from 1210 to be w1 w1 on nxn

(2) instead of following the rule that nwx? wxk 2137 7w to be o°w1 2nn on
XN
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wUNTT XM [8nd 2" Tn

B2 P2 0w Do "D 2R NOT 9T IR RPN N0 7T R0 IR 772 'oIn
121793 D27 7199 5201 2D N1 R PRI XM T NIRRT RN WINTT NN
N7 "12 MaR> Dar 92 90 9% 9201 POVINRT MVIR NOT IR NI NOT X7 11N
RWIWD N2 RORT 7190 3979 RIP T2 KD K299 DaR 007 238 0N Huanaw Mns
DOTD ROW Ao 217 NI RRPIRD ROV N7 ' 2"y oy "o Boua KXY
N7 N7 2AR MO DuaAnW MR RDT JIPRWRY MR NNT DTS MON
DMWY TSR DT IR NI DT OIAY KON 217902 R2TD RO TIWINR KDY RIT RWWD

:2'7Y NOTOR NINDY FTIURT IPRT MOIRD HNURR NITT

TRY DO N2 K292 KDY MaARD KD VYT T RDT RTH R2W WD 'Y 7R
S T 2D NITD MONT INIPRT N2TD 2D POHWT RPNY RWNP ORMY MR
PRI RT SN NN20 5B NNT NOT XM MOIR NI IRT WOIT WY N7 N
NOTO2 IADT ROR NIRRT RN YA KD RIT R2D 70 RIT DT 2v2wR

H'"Y BB MOIRD VIR NTT T0IR MOOR FTNDT RPN

1) X7 here
a) "
i) DIWR AN TIRR AW T N0NRA PIT N0OKR? A0 N PR TN P0K 9D

i) RW 070D "IN0a" 00T AXN DT R0 AI0EN 17PN 92 NIRY NORD AR WAK YN
"NOR" 117777

2) XnUM2
a) 17°vPn YA MRY
1) xw™M
(1) 7723 %P 1910 ROR °H PR
(@) 92 1% 7o
i) x50
(1) oy
(@) 935 9m% 7mon

3) e by o"wn of a npYonn between »ax and X2 in minan noon on the meaning of the
xn>>12 and on the fv*w of *°v1 in the X na here on the meaning of the xn*"2

a) First in7pn according to *"wn
i) 1217°¥ means a N1 wn of a0 and Mo°k and the Mo°R isn’t ¥ and isn’t 752

ii) Mo°R> A vxn Ann applies where there is no N2 vn namely where the MoK is
Pyaand is 10

b) Second nnTpn
i) »ax holds that a ymp for a man 1299 is one N>

22



(1) It follows that 1nxpn» in the xn»92 means n°r *xi — in effect a ywn
i) X217 holds that a y=»p is two o°n°1
(1) It follows that 1nxpn in the Xn»92 means one N1
c) The npyomn of »»ax and &2 — and also the nvw of »vur

YT X217 X2 MK MR XN»727 WS 1°UPN 92 IR
ont'a MR DT 1210 KO9R 09 PR RW”™M
MR N7 mR N 92 19081 N7 >¥n 55 %"n 11 NP
v
T MOR DT | 2MYR NOR 1T XN MOR PRIPANYD | 93°39"n Py N9°D
07 19182 N°A PRI N7 0T OXN2 oM
UPIT NMORY 70X 7371 MO
PRI 7271 MORAWD
2
d) Note that
1) For»ax

(1) who derives from the kw1 that even a Xiw %5 is Mox

(2) the purpose of the x5°0 can only be to teach that the 70K isn’t Sv2 if
there’s also 0

i) For xan
(1) who derives from the xw» that a n°r> of 10°K is enough

(2) the purpose of the x5°0 is to teach that there’s also an Mok for a n°1> that’s
made up of a n21yn of Mo>xk and 0> where the Mo°X isn’t 15°1 and isn't
7Y

iii) For »yr
(1) who derives from the xw1 the same as ®21 that a n°r> of m10°x is enough

(2) the purpose of the xo°0 is less P72 and is to teach that based on i
TI0°KY 770EH there’s also an Mok for a n°1 that’s made up of 7n°i and
7108 where the m19°% is 1271 and 1°v2 and there’s no 217w

4) moon
a) Nwp to the qvw of »"wA
i) >yr who says that M10°X? qven 00 applies to the w5 of yovpn 92

(1) can’t follow the 7w w of »»ax because *ax says the x> applies even to a
mwn of NRY

(2) Nor can »yr follow the nv>w of x21 who deals with a n217vn where the
MoK isn’t 72°1 and isn’t 7°¥2

5) R"wann
a) xwp to the xwp of mooIn
i) 1 understand that *=°37 can’t follow the ¥5°0 of the Xn»92 on 1217°y even for x2n
i) But
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(1) maybe »~°y7 can follow the &w> of the xn>92 for 29

(2) Namely that 1nxpn for 827 means the same as *°v1 as understood by >"wA
namely 203 o1 %M MoK N°1 % where the MoK is 12°1 and isn’t 27 w» and
we count the case as if there’s a 110°% MW based on MO XY 77VEA N7 as
explained by >"w"

b) v n

1) The &n>92 in the Rw*n says that it teaches only that \n¥pn — meaning one n°1>
that for X271 is nxpn of a ymp of two o°n1> — is enough for »vpn 22 to apply

il) there’s no reason to extend the xw>n of the &n>>12 to teach that even this one
n°1o can be partly an°n even where there’s no n217yn as in the Xo°0

6) 2 by mooin of the npYonia between »ax and &27 on the meaning of the xn>2
a) TP

1) "2y" in the xo°0 of the &n>>12 has the same meaning as explained by >"wa —
namely a n2vyn of 2n°7 and Mok where the MoK isn’t 152

ii) But— unlike the fww of >"wn — "MOK? A wxA " as used by °y1 also means
a narwn of an°i7 and Mo°k where the MoK isn’t 131

b) It follows that

i) For »ax — the same as we said for >"wn — the X9°0 can teach only that a ywn of
MO isn’t N2 Hva

i) But for xan

(1) The %0 of the xn>>12 when it teaches that 127>y is moR is in effect
teaching that an°77 is Mo°X% 1wl for 1°vpn 92

(2) and is consistent with >2°y7
7) X"wann
a) xwp to the vw of mooin

i)  Why does mooin say that 827 holds that the xo°0 teaches that an>7 is A
MoK

i) Maybe

(1) xan says the &0 deals with where a full n°1> of MoK is 27yn with a n°1d
of °\ni

(2) And similar to »ax the x9°0 teaches only that the mo°R n°13 isn’t Sva
b) y»n
i) It’s a muws that where there’s a whole 70°X n°1> there’s no 17 of 7102 here
ii) It’s only for »»ax that it’s a wy7°n that even a ynn ywn isn’t H02
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.Tn 71

nooa ynn |y7 n"Tn

5o N0 TN 3 MOR MNP AT 257 Hon "D PR Iy "7 [R Ty ! 7|
X7 N7 VR AN ' 0N RPIT YA RUTW MW ORIT RWORT RO RN PR
N2 ®Ou® ' PRI AT Do 3 w7 KD nayn oY PRn MR R

ROR W17 K97 RX190D 2''RT 2900 PRam T 0 aRhT 5D panT Do n''at b
:211TY WS W abnn R BT BM'H panT Do »''n "D RM0IRY

1) mnpa

a) We established in the prior m2°7 for msoin that to say that 1217 is w2 is the
same as saying that 2017 is MoK 77VN

b) And that both phrases deal with a n21vn of 207 with m10°x that’s not 1°va and
isn’t 7273

2) XM
a) 7 ' says that an°m is 0°R? Awen only for =11 where the word nawn appears

b) vrsays that an°i is 0°K? 7wy also for MRw nawpia based on the word %3 that
appears for Mxw nawpa

C) Nwp to vyr
i) The word %> also appears for nooa ynn

i) Why aren’t we also 92 w17 in the P09 for nooa yin to teach that anom is aavxn
70°KR? also for nooa yan — in effect that 12177 is W2

3) mooin

a) The xwp of the X3 applies to *°vr but doesn’t apply to 11 ' because we
haven’t shown that 1am1° " is 93 w7

b) xwp as explained by x"w-nn

i) 7 " in Xn noon is w7 the word %3 in a pyos for 25 to teach that Myw *xn
IS 7707 72 MoR even without a 717°% with a7

c) y™n

i) jam "is 93 w7 from 250 only to derive an = osx for myow ¢ and in fact "
1y derives for ynn from 25n that 2 v°w >3 is 710x even without a 17°x with
N

ii) But we never find that 131> "3 is 95 w7 to teach a W% for My>w >xn that’s
mpona or even to teach that anvm is MR, 7w to form a My w that’s npona

4) X"wan
a) Another y17°n to the x>wp of m»doIn

i) the 7% of 13m " from 2%n that 7707 12 Mok Mww >xi deals only with a >xn
7w that’s va and isn’t 27w with an°n
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ii) and that’s why the X3 here can’t ask that for 117 " there should be a x> for
van that’s 9n°72 279n

iii) note that m»oIn makes a similar ,%°17 in 81> 7"7 at 2 a7
b) xwp to the y1n of X"wann

i) If jamv "1 derives from 2%n that 2w >¥n that’s 1°v2 is Mok and he doesn’t
derive from %> in the 709 on yan that My w >xr that’s not 1°v2 and is 277 is
also mox

i) How does 111 "1 apply the %5 in the p109 on ynn
C) y™n

i) The same x>wp applies to the y17°n of mooin that jam ™ for Myw *xn deals
with Mook and not mpon

(1) If yamy> " derives from 250 that 1w >¥n1 is MoX and he doesn’t derive from
9> in the pyos for yian that 2w *xn is also Mmphna

(2) How does 11mv "1 apply the %5 in the pos for ynn
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IVan nDipn a"Th

T ROR Y2 wan IRD 9'op "D YA AR 2w yRwnaT o wan apn '
2719 T I R WA YA ORT 9% '3 52 'ownm w''han R By amena Pasa
2171 DAY "o w10 MOINRD [uRn N

Bapn PR IRI20% NINDT oY 12 10 NN 322771 KON SINAMW Dapn RDT DRI 782
TR 9721 9577 IRDAY "2 WwonR NAOKRD 7772 PRvD2 YD W'D RDMMINTS IR
a1 DINRYT MRPT RTY 33277 27N 2 NRIIN RITT 1277 RIR RO NP Papn
PPT MWD [WIR NTT QWA RAMNRT AN AT R D' o2 ey e

PNTY P 'R D 'DIN OV DR 23R Pran XYY mavnh R

1) First nan7pn — awvow of 37 ™ on e '
a) 2N is MoRL Anwn only for 711 based on the word "nwn"
2) Second nnTpi
a) The my>w for mpHn to a 71 who eats 7170 is a N>
3) Third anTpn
a) 0 would have been 2172 5va were it not for the 127 of ¥y 1107
b) But because the 7 of y1°7 the m7n is Sv2 only nxna
4) Fourth mnpn
a) a1 who eats a n°ra of 70 NN is NP2
i) only if 17 is Xn>»7K7 S0 that the 7m7n isn’t 2172 Y02

ii) And only for the >»x7 181 who say the P21 that’s an° is 7v3n to the man
that’s mo°k because only then does the n°r> of the n21wn count as a n1> of
MO

5) Fifth mnpn
a) IRMLY 2w is nman 010 because for 7m0 there can be nxmw? Swohw
b) but nxmvY 1w isn’t 1711 2010 because there’s No AR, *wHw for P
6) Sixth i
a) moon establishes at 1&n> 7"7 on :an 77 that
i) Even >nx7 181 who say that a0 is 10°K5 a03n
i) Apply this 17 only where the m1o°® isn’t va and is 2mw» with the an°i
7) Seventh i
a) An pya 0K that’s 12°1 isn’t 2172 Hv2a even for 1910 where there’s no y12°7 17
8) Eighth mnpn
a) 770 that are n¥°25n Mo are axML 22pn only 131277
9) mwn
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a) 1w Pw nopnn
b) N Hw pwm owm
i) NP2 ARMILY 1w RITW O 120 YA
i) 7292193 DIPn KOX 509 KD
10) x 3 — we’ll explain the X 13 afterwards both for »"w= and for msoin
a) Nwp to the mawn
i) X212 502N
b) yn
i) There is no 2172 71w because a A1 is n°12 1HY P19

C) X°wp by »ax to °n>7 27 who says that 337> " holds that it’s only for 7°11 that 207 is
TI0°RY 7V

i) For the mwn to say that n°r22 1%y 7Y% a1 it must be that the mawn holds that
an° IS MoK AvEA not only for 2011 but for 7913 7707 9

11) 72 of the &3 by »"wA
a) xwp of the X
i) X212 502n

(1) the yw>7 7 is only 131217 so that xn» K71 the 0w and »w are 2172 Sva and
there is no 170 aw at all for the ow and 7w

(2) so there ought to be no nx»w at all because nxmIV? W 5w isn’t P2I02 Y010
b) 10 of the X
i) aarisnroa vy g
ii) the reason must be that
(1) the ¥ 7 7 is Xn»7K7 So that there is a a0 ow on the 7wy ow
(2) and it follows that Yy o1pn is 2109 because aRnWY *3w is 71702 K01
12) xwp of mooin to "wn
a) Partl

i) We’ve established in the 7P that 2112 91002 applies only for an Mook that’s
27y» and isn’t Py2

b) Part2
i) m»doIn has several n1x1 that the mawn deals with 1wy ow that are 1°v2
c) Part3
i) So how could the & n3x ask that X212 525
13) R"wann at wan opn 1"7 based on x»2 5"7 moon at an a7
a) Xwp to the x>wp of mooin
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i) It can’t be that the X3 understands that the case involved 2wy 0w that are
wnn Py

ii) because we established in the m7pi that xn%y °215 agree that n°i7 can’t be
0K A703» where the Moo is 1°va

b) v

i) moown intends only to say that although the yawy 0w isn’t a1 it’s still 93°1 that
the yawy ow is anon on the mopn

i) And that’s why
(1) The im0 ow would be 2112 Hv1 if the 17°7 197 isn’t RNTIRT
(2) And still

(@) in a case where there is no 2172 72 for example if the yw27 17 is
RNMIIRT

(b) a mx7 381 can hold that the 17 of 110°X% 7vEH In°7 can apply
14) 7x0a of the X3 by msoin
a) TP

i) The & nx in the X1k 77 realized that the 73w holds that the 37 17 is
RNMIIRT

i) The & nax also realized that the 1wy 0w are 7%°25m Nnd SO that Wwan DIpn IS XY
only 11277

b) =2 of the x°wp to the mawn

i) Although the y2>7 17 is Xn»x7 the 170 aw in the ow and j»w should be w2
2172 anyway and not have a 7m0 ow because n%°251 mno isn’t 2wn as proved
by the 17 that their faxmw is only 31297

c) e of the y1von of the X na

i) Since a 71 is n°122 1%y A7 it must be that yawy ow have a mawn and a ow
nman even though their axmv is only 131297 when there’s 7%°21 nino

15) x"wnn at x7 7R3
a) xwp to the v w of mooin
i) 2w nmnis only 131297 so how can the xna say that a 1 is n°1oa 15y Y
b) y1n
i) The &7 means to say that

(1) the 127 that 2238 aren’t Xn»™XRT AR Papn if there’s no 7¥°20 NYW
doesn’t prove that 2w 0w aren’t 2°wn and that as a result their 70 aw
13297 is Pv2 and they can’t be R 22pn even 1127

(2) since if 1w nmnn were xn»xT a 1 would be 0132 1% 1% even where
there’s no 17%°22 My°w and the 1wy 0w could also be nxmw 22pn only 13277
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ii) Mxpa the nmnn ow of an 951X that’s 7¥°201n Mo — whether the a0 aw s
Xn>>7IRT where there’s mpon for a person who’s n°12 92 or is 131277 where
there’s no mphn — isn’t affected by the 17 that 1°921% that are n1%°2om mins can
be nxmwv 22pn only 13277
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AN RN XX Q"N

23 191 "D OPUER PR LY MOINIWDT 9 M7 KD 11277 "D N7 ORD KUK 17''72
DM TOTH RADWR NIDIP Y23 ANT 907 AR PR NRAR PR B''oy " Moty o
DR FIDPM 92X 9OFD 2''YY NIITAY NI 925 17919 DIYR 95 PIOR KDY "1 PRI wnaT
ANOTT 92 AR WMDY WA KR ORARY POIT OWIDI T 1IN DR 2w Jarn 1IN
ODIT QMM YIANT RIIT QW WIAIDW NN PR A '52 DY MOND nauRn
MIITAY MEPR DTRWR IDIP2 PAD RN RAYLY RT7I2AY K97 XA9R2 XX XD 190
1910 T2 IR PRWISIT MWD T WV KDY W R RAYYD Ay 177 PhanT
ORI RUTIT ROITT "OINT 12T 2w W RTIAY RAYYD N7ORT nnoa ey 1M
B2 A VY MOINIWS "ER N2 9D NRT PAR 923 7207 RO RN AR

1217 992K NN20 0B DOYS 0N w''an 0TI 21D YD Yann T

1) First nnipn

a) ynn n2vn means the same as 12177y

b) °%227 nm> counts as y»n navn and 121y
2) Second TP

a) ryHx " holds for ynn that 1217w is 1852 based on a 7% from 95 in X2 nxnnn 53"
"7o8n whether or not there is a general 17 of Mo°X% 77wV 107 that applies to 95
il plhh

b) >nmx7 38" who aren’t %5 w17 can still hold that ya1y is 1852 if they hold that there
is a general 7 for 7715 707 95 that 207 is MORY AN

3) Third 7P
a) "%2271 mn1>T 327" say that 11y isn’t L2
4) Fourth mn7pn according to m»oin at &n2 7"7 at :an a7
a) 1 " and x2°py ' derive that an°i is MRS AvEn for 11 based on the word nwn

b) w1 derives that an°m is MoX5 Awxn also for the w5 of 11°vpn 2 based on the
word %> that appears for that 18>

5) Fifth mnpn
a) Since »yris w7 the word %> for 1°vpn 72

b) >vr would also follow 71v°5& " who’s w17 the word 5 in ngnann 92 and he’d
agree with 219X "3 that 1217°9 is 1822 namely that 2037 is M0°R2 A wen also for ynn

6) Sixth mnTpn — nvw of "7 21
a) "M

i) isn’t w7 the word 5> that appears for the x> of »°vpn 2 and holds that
there’s no Mo°X? AN A0 for any XY except for 7°n

7) Seventh mnTpin — nvw of »ax
a) 7 ' holds that 207 is M°R? Av%A in 7912 700 %
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8) Eighth mnTpi
a) NPy 77320
i) Derive from nwn for 211 that 7910 7707 902 7P wo oy
i) Don’t hold that 207 is MR Awx» for any Mo°K including 7°n
9) Ninth nnpn
a) Inthis m2>7 and in later o>112°7 we’ll set additional mww in the preceding ooy
10) Tenth 17 — nawn of opn as explained by the k213 here
a) A 71 who eats a 1opn made of 71 and a 1°2an of a1 is N2 YOV AP
11) Eleventh nn7pn — ma17a7 RN™M2
a) The xn»Ma

i) 79W 5w NNR PoaN HW M W 1PIRY 1IN YW NARY 1 2w DR MR N
ata)miolvii7daishe

i) 77991 79770 TIND 321N MR CIRW TPIND MTRT 1R 2R TIND MITAT M 19K 1990
1991 P9I 7107 1M

b) We’re Pp>n and say “nX "axw because even if there was in fact a n2yyn of pon
and 72170 the n217yn is Mox to a 71 only 13277 as we’ll explain below

12) Twelfth 7n7pn — mop7 ’N*™02
a) The xn»a
i) 7290 5w NARY 19T W DR PRO SNW 110102 710N Dw NnRY 19 YW Dok Mo nw
il) 7991 190 N 721701 1991 P2 TIND PRI IR CIRW 19701 19X TIND 19K 1900

b) We’re Pp>n and say “»X "axw because even if there was in fact a n21yn of pon
and =170 the n21yn is MoR to a 71 only 13297 as we’ll explain below

13) Thirteenth mn7pn
a) The 17 of 019 N%°OK >0
i) ifaperson eats a My>w of Mox during a period of 075 n7°K *72

ii) he is 121w the m0°K) because the entire 7%°5% counts as one 177°5% in which the
person ate a n°r> of MoK

b) m72n
i) The 17 of 079 N%°OK >72 is RNPRT
C) MR
i) The 7 of 079 N%°K >75 is 131277
14) Fourteenth mn7pi
a) We assume that if a person eats *22277 nn>
i) it’s not possible that he eats a n°1> of y»n in an actual nnx 7%°oK
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ii) but it’s possible that he eats a n°>r> of ynn in 075 79°9K% 72
b) the same applies to 79pn and M7 and moyp
15) X
a) Nwp by »ax to 7 29
1) The niwn of nopn presumably deals with where a person eats less than a n°r> of
the 0w and 1nw that’s 72170
i) And the reason he’s n°132 1%y 17717 must be because the an°i1 (the 20 part of
the opn) is A7 with the Mo°R (the 1720 that’s m1n) part of the mopn

iii) So how can you say for jam ' that an°r is 190°R? Awven only for 2°11 where the
P05 says nawn

b) vynof 720
i) 7am "1 would explain that the 3 is 7p1?

(1) Not because a1 is M0°K? A7w¥A so that each n15 of the n217yn of P and
7170 in the 79pn counts as a Mo°R N°1d

(2) But because the mawn deals with where during a 075 n%°2x 75 a person
actually eats a n°r> of the 77110 and this 7%°28 counts Xn*>7IX72 as one 77°9

C) Nwp by »ax to 7 20
i) If the 17 of ©79 N%°oX 73 IS RN»IRT

ii) for *5237 nn57 1327 why is there no mpn» for a person who in a period of >7>
079 NIR IS PR a n°1o of the actual y»n that’s in the n21wn

iii) moon at anyn 7" will deal below with how »ax explains why for 1in157 3329
*92277 there’s no mpvni for °222:71 o based on the % of Mo°KR? A0

d) The yyn of '»7 27 isn’t relevant here
e) Further xowp by »ax to "7 21

i) We’ve established in the n7p that the min»a2 of m>17a and nop are
because even if it was 7170 that fell unto 191 it’s only 1312977 that the
resulting n217vn would be "ok to a 77

i) But if the 7 of ©19 N9 752 n°15 IS ’N»IXT7 the n21wn should be 1ox to a
person who 019 n°aX >702 eats a n°ra of the 170 in the narwn

16) qwnn of the &»0 as brought in minan noon
a) noRw
i) How does »ak himself understand the xn»=2 of nop

ii) After all since »ax holds that 110°%% q7v¥n An°7 in 7215 7100 95 then for »ax
too if in fact there is a n21vn a 71 who eats a n°1> of the nawn is 72w an MoK
RN

b) nawn
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i) ax says that the 1>7 that an°77 is M0°K? A7vXN doesn’t apply where a0 *w o1
i) And in the &n>>12 of mop there is more 207 than MoK
17)°"wn in mnan noon
a) Nwp

1) For the xn>>12 of m>171 why doesn’t the & n3x ask the same x*wp to *»ax and
answer the same y1°n

b) y»npartl

i) The mawn of 707 *w*n1 wouldn’t apply to a X°*wp from the xn>12 of mo1n
because for items of MoK that are 7> avv 101 the 197 of M0°RY AVEH N7
should apply even where an°77 *ws3

C) y»npart?2

i) This y1°n also explains why the xn3x here also deals with 210°X? 703 0o
for °22277 nm> and P w opn

18) mooin
a) Nwp
i)  When »ax asked his xwp to >»°7 27 from *%2257 nma7 1320

i) How did »»ax himself understand how j1m1> '3 would explain why for rn157 3129
"52277 there is no R for *>2271 mM> based on MO XY A VLA N7

b) First y1°n
i) »ax says that

(1) 3 " would explain that *22:7 157 1327 agree with x2°py "7 11217 who
hold that an°i7 isn’t M0°K% qvEn for any MoK

(2) While 1am " himself
() agrees with &2°py " that 207 is 10°R? Awxn for 2011 from nwn

(b) and holds further that x2°py " derives from =11 that 077 is 7v¥n
Mo°KR? for 7912 77N 9

il) note that
(1) °n»>7 20 is 77 to »*ax that 1am ' follows 82°py "
(2) but >n>7 21 says that

(@) ®2°py "1 holds that there’s a separate T1n°% that teaches that an> is
T10°K? 77w not only for 2011 but also for nxvn based on a separate
NAlakl)

(b) And because P11 PR TR 1R27 12N 1w the 17 doesn’t apply
elsewhere 71910 707 902

c) Second y1n as explained by R"wann
i) Partl
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(1) We’ve established that the &7n3 in 7°11 noon says that »»ax doesn’t apply
T10°8H 770X 07 in the Xn»12 of Moy where 03 “woo1

(2) Apply a similar X120 to *222377 tm> and M7 where also 207 *wo1 and
this explains why *22277 127 1127 and the M1>177 XN say there’s no P71
of MOKR? AW N0

i) Part2
(1) noxw
(@) Why does 213°2x ' disagree with >22277 nn1>7 7320
(2) mawn

(@) We’ve established that 71v°9x ' relies on a w17 from "25" and not on
the general 17 of 0°X% AnvVYN N7 — this w17 applies also where w1
N

(b) *2277 M7 1127 aren’t w7 the word 92
iii) Part 3
(1) The 9pn7 nawn follows the fvew of 21v°%& ' and holds that =ry>5x ™

applies the w17 from %3 to 7715 771077 %5 so that 7715 77107 %52 there is in
effect a 17 of Mo°K> Aw¥H 07 that applies even where a0 w1

(2) Note that for this 7%7m of mooIn

(a) there is no need to follow *"wn and to rely on the fact that yaw1 ow are
171 vy 1°an11 and that’s the reason an°a is MRS 70A even where
N Wl

(b) and in fact n>71 avw n°n1 has no relevance at all
iv) part4

(1) »ax will also explain that the m21727 Xn>>12 doesn’t follow 13°%% ' and
instead follows &2°py "3 as understood by *»ax according to jam "

(2) And for this v w we’ve established that where 20> *w°s1 there’s no 0’
TI0°RY 77V even where 7° avv 101 as in the case of Mo

v) Parth

(1) Note that this 721 is somewhat similar to the first y17°n of mpoin that »ax
holds that x2°py "1 derives Mo°x? A7wvEn 07 from nawn and then applies
that 7 to 790 700 92
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NISIE 'Y "am'N 2" Th

W2 "MMINTAT "D D ARIINT DY PRI !@NW R XM "D R anR 7'
SBRT DY RITIR PPOIT WODIT 10 9TITD KA 7132 SO0 IRRD ROy "o AN
MR DY N NP KOR POIT 297 2N 7o K97 DY T DY 1R At
1927 SRR AR] 291 N2 T MY 2972 D2 119Ra PPRT MIDIND YA "o Dan

1)

2)

3)

4)

5)

6)

[29p21257 B2 W' RPYT IND N2 TR V'S
First 7a7pn
a) »ax says that the 1>7 that 207 is MORY 7WVXA IS RN™IRT
b) "7 27 says the 17 that 019 92X »702 79°OK counts as one 77°IX is XN IRTA
Second 7P
a) 2 P is 2172 Hua RN
XN*>92 in Nn2° Noon
a) 7N YW DARY PN HW DAR RO NW I 1100 YW NARY 190 YW nAR M9 N
b) 799173190 TIN? 7N 1991 PRI TIND PRI IR CIRW PPN PR TIND 19X 1991
Xna there
a) "M

i) It’s a muws that we’re not 9p°n to say MmN “IXY where there’s a wwn that 190
fell into 7m0 in an 193X where a 71 who eats a n°1> would be 22w an Mook
RN*IINT

i) And the reason the xn>>12 is 9p°n here is that the 211 is P11 and the case
involved 1112 77 so that xn>>1IRT7 even if an17n was 9911 into 191 the amn
would be 2172 502

X 73 here and in 213
a) Nwp to »ax

i) Presumably the a1 would be 121w an Xn>» &7 0°K if he eats a n°1> of the
n2a1vn based on his v w that M0°RY 970X N7 IS XRN1IINT

i) So why is it that the xn>>12 is Hpon

b) y1vnof »ax
i) There is no 7 of MOX? AwXM N°7 Where 07 w1
i) And the xn»92 deals with 207w o1

C) Xwpto nTan

i) The 21 will be 221w an xn>>x7 MoK if 079 N2 >722 he eats a total of one n°1>
of the 7m7n that’s 27n in the na1wn

i) So why is it that the xn>92 is 9pon
nvoIN
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a) Nwp
i) Why is there a X*wp to "»>7 21
i) We see that jam " holds that the xn>1a deals with where there’s a 211 of P21
iii) Now
(1) once there’s a 1211 217 why should it xn»>7x77 be relevant that the person
eats a n°r2 in 019 N°OK 722
(2) after all the 70 was already Hv2
7) R"wann
a) Nwp
i) why does maoin need to refer to 731> " to prove that there is 1711 211
ii) The x7ma just said directly for »ax "9 w517 “Rw RO7"
b) y1n

i) toavoid mo°X? Awven o for »ak all that’s needed is a y7wn more 0> than
MO

ii) But 2172 w02 for o2 11 requires a 211 of two-for-one

iii) and
(1) to prove that there must be a 211 of two-for-one in the Xanx in nn2>
(2) mooin needs to rely on the X of jan
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a7na awan pan A" N

SRTY STIDM T B oY RIS YLD T RIAD TV INMR 10 wan a1 7'
IRIT2 ORT INDIRY AT PRI AV NOINR INOINT AT 2 wan nnh X7
DT TPIWIR KD IPIWD APUT AN 950 3T AR INDR | 02X MKW 7T RIN
T2 YRR A1 TOIDTY 292 MWaR MARD FTINT BOT PNON INW 79D RN

2'Y7Y 2B AR RDYR TR TN DD a9 90N 1T RDT 1N

1) X

2)

3)

a)

b)

c)

d)

f)

9)

1M ' says

i) DIWR 7N TIRR AW 0TI M0ORN PIN 0K 770N N PR 77N 0K 9D
Xowp at .1 a7

i) We already need nwn to teach that 2p°vo avw

laRit

i) 7 ' agrees with ®2°py " who applies nwn to Mo°K? 77vEA N

i) It’s X2°py "7 1227 who apply nawn to 2p°v> avy instead of to Mo R AwvEn N
ROwp

i) Then from where does x2°py "1 know “p°v> oyv

laRit

i) from 2%ma w2

ROwp

i) why do x2°py "7 1327 need nawn to teach ap v avy

i) Why don’t they derive v oyv from 2%m2 w2

laRit

i) 1127 don’t derive Tp°¥> oyv from 2%m2 w2 because 2%n2 wa is a viTn

maoin

a)

WP
i) ax says elsewhere that 2%m2 w2 isn’t a v17°n
ii) For »ax why don’t X2°py "7 1327 derive Tp°y> avy from 2572 Twa

X"wAnn

a)

b)

ROwp

i) why doesn’t m»on answer that 25ma “wa is Man relative to 711 in three ways
outlined in the x7m

i) So we can’t derive the X of 2p>v2 avw from 2772 Twa to 1 n
717N
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1) moon means to ask for *»ax only why we don’t derive all 2>m0°x other than
713 from 25m2 w2

i) Here’s proof

(1) When the x7n3 earlier asked “why do x2°py 17 1327 need to rely on nawn to
derive 1p°v> oyv when the can derive 2p°v2 avv from 2772 w2”

(2) The same x>0 applies that there are three ways that 25m2 qwa is more
T than 2

(3) And it must be that the x2nx there means to ask

(a) why do ®2°py "7 1327 need nwn to derive 1>y avw for P0°R other
than =9

(b) When for these 1m0°k other than =9r2 we can instead derive 2> oyv
from 2572 "wa
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NCTR 201 2" TN

SR 91 MDY 13 Y 99D %Y AT RIN2 P52 W' 930 "5 TR 11T 7717

1)

2)

3)

4)

MY A R0 P PRyRwa BT 7' R 0w "o Wwan nomb
TR
a) X2°py 77120
i) Generally 007 oyv 1011 is 0
ii) It’s a wrn that even a 2> that’s 0xd% aywv 1M1 needs 0131 71373
iii) And that’s why we can’t derive 1p°¥2 ovv from 0°121 "1

iV) can’t derive 7p°v2 avv from o051 °919°3 because 0°121 97303 is a w17°n since
generally 0ao% oyv 011 is Anm

b) xapy ™
i) Only xn1 n2 79°7p needs o121 97137
ii) A 77°7p that’s not X»1° N2 isn’t 0392 oY 1M

iii) It follows that o°121 °9°3 isn’t a wi7°n and that as a result we can derive avv
TPy from 0051 71303

plah!
a) Nwp

i) If 2101930 applies only to X na 79°7P why do 1327 say o219 is a
VARMY

b) y1nas explained by m»oin

1) 7127 say that even a x»1 na 77°7p already has some 3o so there’s no reason to
think that o>151 >91w°3 applies only to 821 na 7777

ii) that 021 °9wx applies also to &»1° na arRw 77°7p is certainly a wvy7n
mooIn
a) —xn " disagrees with both x2°py ' and 1327 and holds that

i) The Mmook of 0>101 "9 w3 proves that xoh oyv 101 is 1OK

ii) It follows that o151 73 isn’t a whn and that 2y ovw can be derived from
0331 ")

X"wAnn

a) The x°»0 could have decided that &2°py " derives Tp°> oyv from o121 9w
based on the v>w of xn '
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AN qT
' DT DIYN 2" TN
B2 T P'T PRAM 9T MKRP KRY IRBR 12 71 07 2awen 772 [R 7wy o a7
NT20 PPR7 RDO7IT RN 7T DWH '0INT 12an0w 2 DR B''oy miayyn phaoa
79 WNT KD M1 R2WY BT ARD 3207 99 W7 KD 2179 928 RO7 90 W vt
B TP T Y572 bR KRBT MIDOINT DR RAP PIND ROUR RO D RWP KDY
TITIRY NIWRR INTD DD WINT WIIRY 5ONDRD KRR P17 R2OKR V''T 190 22T
Boyh WPRTD A1 ODA PR PINY AR TR DMRAR YN S wen yana
BaT 5D w7 1" MOIRD NURR MR PR 23T o P w7 300 Y e
2117 790D 99T 299D INMY 1UPN D2 M1 9" 1P KD ORBR DRI K™D 10PN
1) anAa7RN™A

a) ryHR "M is w7 the word "95" in the p1oo "19oRn X5 neann 93" to teach that 1y
Al

2) XM
a) Nwp

i)  Why isn’t 213°9% "1 also w17 the words "2 °2" in ";n9531 nxnann H2IR 93 93" to
teach that there’s n1> for 12177y

b) v n
i) 219R " is w7 only the word "22" — he’s never w7 the words 95 °>
c) Nwp
i) Xn»a
(1) vrvpn Ha ww
(@) %2 2"n o NgPn 1910 KX D PR
(b) 255 %"n Poan 12y
(2) 95 w77 Y nunw XD

(@) 2139) " —so it follows that that 2139 ' is the xin of the xw of the
Xn>>12 who’s w17 the word %2

(b) And it’s 1anon that 9rv°%% " is also the Xin of thexs o of the xn»92
who’s w7 the words 95 *>

ii) So the earlier xwp of the X stands: why isn’t 91¥°9% "1 also w7 the 952 in
the oo for ynn

3) " nynw XN "7 1 7 NN
a) Xwp

i) ®2°py " is w7 the word "53" for nxun for a different purpose the details of
which aren’t relevant here
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i) So
(1) maybe
(@) ®2°py " is w7 the word "9>" also for ynn the same as q1y°ox "

(b) And it’s X2°py "y who is w17 the word %3 in the xw> of the Xxn>»12 0n
"KW and it’s also X2°py "y who is 73 °3" w17 in the X9°0 of the &n»12

(2) And the x>wp remains: how does the 73 derive from the xn>1a that '
VORS00 vt

b) First y1°n

i) The xwp of the xnx applies even if it’s X2°py " who’s w7 the words "3 2"
in the xn»72

i) Because the main x>wp of the X3 remains: why isn’t there any Rin — R2py "
included — who isn’t w17 the words "% *3" for yan even though this xan is
w7 the words "92 °2" elsewhere

Second y1°n
i) Partl

(1) For reasons not relevant here it’s more 1anon to be w17 the word "75" for
nxw than it is to be w17 the word 93 for ynm and for 17°vpn %2 Rw

(2) Since there are mmpn elsewhere in 0"w where even 1121 are w17 the word
"oo" but aren’t w7 the word %5 for ynn or for yvpn 52 NRw

i) Part2
(1) it follows that x2°py " too
(@) might be "92" w7 where it’s 12007 as for nxvn

(b) But isn’t 92 w7 where it’s not 12non for example for ynn or for xw
0PN 92
iii) Part 3
(1) That’s why the & n3 prefers to say that the xn»92 of 1vpn 2 is 213HR ™

who is the only &1n who is certainly %5 w17 in another case that’s not
q2non namely for yan

4) x7mx here as explained by *"w at 7 77 at ynw1 132777 77
a) mnpn

1) Xpy "

(1) definitely holds that an°i1 is 10°K%% qwven for 9°11 because the word nwn
appears for 71

(2) but isn’t w1on whether from =011 he derives that a0 is MR A w3n for 5>
bl plhh
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5)

6)

7)

8)

il) X2°py "7 1121 from nwn derive 1p°v> oyw not only for 2411 but also for 7707 %5
7710

iii) 731> " says that x2°py " from nawn derives Mo°KR? AwvEn an°n only for =1 and
not for 710 71N 92

b) xwp

i) Why in fact does 311 ' say that X2°py ' doesn’t derive from =011 that an° is
TI0°RY AWEH for 7910 7nn 9o

i) The same that x2°py "7 1321 from 11 derive v oyv for 7715 7707 %
C) y™n
i) 7 ' says that

(1) There is a separate 71m°% that for x2°py ' teaches that 20 is MR A LRA
for nxvn

(2) =11 and nrun count as @>TMYn PRI TARD Q°RA7T 0°2IND W
mooin as explained by &X"wann
a) Nwp
i) We’ve established earlier that the first y17°n of mpoin at &> 7"7 assumes that
(1) since ®2°py " is w7 the word > for nxun
(2) x2°py " is also w17 the word 9> for ynan

(3) So that x2°py "1 agrees with 139K " that 1217°¥ is 1822 which is the same as
saying that an°7 is M0°KR? Awxn for yan

i) So why doesn’t the X713 say that it’s 7°11 and y»n that are 7nx> 2°&25 0°210 "W
X"wann
a) Note that this x*wp of mdoIn doesn’t apply to the second y17°n of MmooIn at &no 7"

b) Since that y12°n holds that x2°py ' can be w17 the word 55 for nxun — where the
7wAT is "anon — without being w17 the word 93 for ynn where the nwA7 isn’t
72non

2 AT XM

@) ™22°N07 713 YIN MO°RY AIVEN N7 PR TN PN0R DI 1371 1 N 172X 1 0K
nawn

b) v is w7 the word 5> that appears for 1 vpn 52 7w to derive also that anon is
TI0°RY 7W¥7 also for the RS of 1vpn %2 XY

C) Nwp to vyt

i) >7°yr ought to be w7 also the 2> for ynan to teach that there is also a 17 of i
T10°8% w3n for yan so that 12177y is 1892 the same as for 1o

mooIN at °n1 nov1a yran P o'
a) Xwp
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i)  Why does the &3 ask "n1 oo 1y *5i1 °k" only for *°v1 and not also for "
1

b) v

i) Because *vris "93" w7 for 1°upn 92 Rw while we don’t find that 13 " is
w7 the word %3

9) X"wann
a) Nwp

i) We established for the first y37°n of mooin in 3x»3 17"7n that X2°py " the same
as YR " is w7 the word %2 in 908N XS nenann 9o to teach for mo» that 1217w
IS W52

i) And
(1) we’ve also established that jam "1 follows &2°py " on where to apply the
17 of 70°R 7V A7 and on from which wa7 to derive this 17

(2) so that for the first yy7°n of moown it turns out that 1M " ought to be w7
the word "92" for yan and for 1xw to teach that 110°%% qvxn 2077 in these
cases

iii) So we have these two nvuip
(1) First xwp

(@) The xwp of mooin at ynn 1av% 7"7 is unanswered for the first yyaon of
Mmoo N XD "'

(i) “why doesn’t the &1 ask "1 noo pav? *377 °K" also for 1
(2) Second xwp

(a) Why does the x»3 say that 11m1° "3 disagrees with the fww of *2°v7 and
holds that an37 is Mo°RY 7wy for 7°r1 but not for 1vvpn 2 XY
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"y 29T PN AT 'wn

NAUER NP NOWR ONRTY PR 12 N9 KT 0 AHET 332 17''7a 'wna
IRWA MOIRD VIR N ATD DO 0D pana wTRY 3oy "D p'™MD Mo
SR MRMIED PR AT BTN JMARTD 2%2I100 "2 IRV %1 BT awn MR
1T D97 99227 ANIST 227 1T R2PY 1T RPN 701 P avh »'' DS

1)

2)

3)

4)

5)

6)

2T PR A D '0IN2 IOMY POYD oYY

First 7a7pn

a)

*92271 N2 is a yan n21vn and also has a ynan oyv

Second 7P

a)

X2°py "7 1320 derive from nawn for 7°11 that 1p°va avw for 7915 7707 92

Third 7P

a)
b)

*522377 TN27 1127 say that yan n21wn is 0195 k92

It follows that %2277 n1n157 1327 don’t derive from nwn that 9p°va avw for 7707 92
A

Fourth nnTpn

a)

11 ' says that
i) X2py " is w7 from nawn that A0 is 10°R? Awen for o
i) And x2°py "1 is w7 from another mn°% that a0 is MoK 7 wvxn also for nxvn

iii) but x2°py " doesn’t apply MoK 7vxn 0 for 7713 7707 %5 because =011 and
NRLI are 2>TM71 PR TIRD DX 021N "W

"1 as explained by x"wnnn

a)

b)

c)

d)

Xowp
i) How then do *%2271 nm>7 1321 apply the word nawn
77N

i) To teach that 2n°7 is 70°R? Av3n for 7m

Xowp

i) Then why don’t they derive that 18721217y for *22277 nn> because A7wvn N
MoK

717N
i) Because they agree with 3111 '3 that 9°13 and nRvn are 7R3 0°RX27 2°2100 W

X3 at : 1 a7

a)

Xowp
i) How does &2°py " derive that 7p°v> oyv

7) R"wonn
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a) Nwp

i) Maybe x2°py " agrees with "%2271 10157 13127" who hold that 2p°v> oyv isn’t
RNTINT
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N Q7T
XY NOD 2" TN

7277 "D IRAIW PIYY WHBT 9297 90T "2 MNW N2 7'72 'own [2 Ty a7
PN 952 N3OBD PNYRRT ORINT WA o oy pam vas oavep 1" "o Man
MW H22 M20 R Hua KD 7171 PR XY 12pNR 97 11D 12 Y AN IR 20
1910 2"V 1D YR MW 12 WY DO BN 720D 17T R 19vab P nwyn
79U KD R'"2wa) Duab 21 v nuT 2R RIT RURIP RTT 09 17129 R 12T
TI PO% ORTIT NN 2MYY IR RRbYA 72WR TIY NOR DD wyn Mw
B2 TN 1R2 PUD2 AN R NI AN MY 2R IRPIY TINTY PIYD ST b
PIYD KON N7 OAHD KD 3327 7T 02T "D ARwnRa IRV 9T PTIN 2900
9297 92 T2% RMawAT 7MWY TR AOUET PRYARAT ORIN INRPILR 1MbYID
TIYD 2" TARRRR A0 NP IR TNTD N7 572 700 930 077R NNMW PIvhT
VWA Y RO TV PUA KD PRI PIPY 920 'Y 9D N BoR nNnn vl vrn
27299 MIDOINT Y2 O RAY 7AW TINOR 7OD DT SIRMIY TR PR PT AN R
1D IRIAMD AR IRTH KON 1''77 990D IR NTNTD PR D2 MTAT KR''awaw
DN O3OHDT 97 ID) DT NRMIW TV 12 7T KPR INRMIWR 297 MBYD PIvh
902 "B RPADY YR NIWR 90 11299 INRMIVRA 97 MbY PIvh 3 120
WD TR T NMRY NDID 200 PRn b RO7 17 Y907 Dphph wyn e
1ZIAMY WY RAOYD TRYR NPRW VMY D NPaR PUR O'AR W PR huay
MISOINT PSS M27 WIDNY FTORT 29277 D'V Bphph mwyn MW v wa o'

'Y7Y Pan® 17 212 a7 v P

1) nawn brought by the X7mx in naw noon

IR0 TR IRV RN 7Y AT
NIWA P2 ARAIL TR PR AT 7 RN 07377 90 AT D P A M7 RN 2
R? 928 9p9pY Awyn Mwa 12 3pn° awyn 7AW ARAW ST PN

7awnna
DP9PY AWYR MW AR TR PAW AT
7awnna K27 w"am Jpn? awyn MIwa X

2) H"wann and X"wonn disagree on the mx°a of a Xn°>12 on Rw in the X310 here
3) Xn»92as understood by 2"wnn
a) TIRWT Xnp Rin says that

i) Unlike axmb 77> for which 7awnn is enough both for 77 " and "7 Riap Xan
omT

ii) for ynn nn 7w°2 even vwwva v that’s a 1pn? AwWyn "MW isn’t enough because
there needs to be a Hpop% nwyn MW

b) =1¥HR 12 Nwnw ' says that
i) vwvaInw which is 1pn% awyn MW is enough for yan nn el
4) xn»02 here as understood by X"wann
a) TIRWT KNP RN
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i)  Unlike axmw® 77 for which mawnn is enough both for 7m0 "y and 7 xiap Xin
ERahy

ii) 7awnn isn’t enough for ynn nMn Sw2 and there needs to be at least v>v1a 17w
which is 1pn> qwyn v

b) ArvoxR 12 PYnRw " says that

i) The same as for axmw®? 77 for which mawni is enough both for 777> ™ and
AT T R1P RID

il) mawnn is enough for yan nn 9102 and there doesn’t need to be any nwyn at
all

5) X"wann
a) Nwp to Y"wan
i) The plain words of the xn>92 support the fvw of X"wAmn
6) Twnn of maoin
a) "Ynr a3 onhD M1 0T IPNY WY MW AR R IRMIY PI? 3907 10"
7) XR"wan
a) Nwp
i) 77827 these words of mooin support the nvw of 5"w1n and mean that

(1) The same as for axmw > ARS both 777> ' and 777> "7 RP RIn agree
that mawnn isn’t enough and disagree on whether 1pn% qwyn 1w is enough

(2) Mxw7 xnp X0 and TYOR 12 YRw " agree that 7awnn isn’t enough for w13
v nnn MRw and disagree on whether 1pn% nwyn M1 is enough

b) y1n
i) Mmoo actually means that
(1) rvoR 2 PYRY M

(@) who says that ynn nin 71w°2 has a 1°7 that the same as the 7 for n
RMIV? 09D

(i) namely that mawnn is enough in each case
(2) also compares 1X17°1% MR N7 10 MNPV *H NROYI
(@) namely that 7737 "7 ®ap Ran holds that 1pn% awyn »1rw is enough
(b) while 777 " says there needs to be P50 nwyn 1w
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.n qT
N'TDT No91 a"T "Mwn

R? 199 795P2 WK 9D NTon NIDaY 12 N7 mepa 172 vwina [X Tmy w a7
NODNT NOTOR NITDR VR KDY 10D MINR IAMID RAPIND xR T M W'y
B'"™Y 7179DPa

1) mnpn
a) 7oRw
i) If there is ynr pxa in 72w °p70 and a yaw touches the pxa

i) Does this count the same as if the yw touched the 727y so that the 72w is
RN

b) nawn
1) If the pxais 2wn

(1) we don’t treat the case as if the yw touched the 72>y and the n2»w is
Y

ii) If the pxaisn’t 2wn
(1) we do count the case as if the yw touched the 72°7y and the 72 7y is nxknv
iii) The pxa can have mawn
(1) Where it’s mox and has Mook maswn or
(2) Or where e the ya of the 727w is 79pn on the pxa
2) mwn
a) Nw™M
1) "2y pT0aw pxa
(1) 2w2% 21 7R 0P NOTD W OX
(2) 1w na Sv21RY oX
b) o0
i) R PWH I
(1) yxw oy Topn OX
(2) 7277w5 RIT 77 YOV PN 11K DX
3) & as explained by >"wn
a) T2 of the mawn by x95 29
1) Rvm
(1) Although the xw»n refers to o2 ynn My»2 21N
(2) It actually deals with whether the 72>y is xnw on ros
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(3) And teaches that
(a) if the pxais n>1o2 and there’s a my°2 v there is No axMY

(b) because the pxa has MoKk n2°wn even if the 7122y va isn’t 7°9pn on the
PX2

i) xo0
(1) The x>0 deals with maw:s n° axw and teaches that
(@) the 72°7v is axnw if the 7209y Hva isn’t °opn
(b) whether or not there’s a n*1> of pxa
4) R"wan
a) The x73 could also have explained that
1) the xo°0 deals with oo in a case where there is no Mok n°1>
ii) and the nxmw 17 depends on whether the 72w %92 is 79p
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TXD 2" T M'wN

PR By "D PR KRR 29299 g90EKAY IR 1D 29ph e o 13 ''Ta
TTTY I WY 1T PRI 12 2R PIYan PR KRR 2092905 RNy 2"y
BRI MORW 1192 12 NS 1A M7 292950 NN ATRY NN RITW 9

2T RMY 90 717 2T PR RY

1) "wnand 2"y

a) YD M1 10°2%37% D2IRA9T DR 1" WO R N1 0°2737 727K 10" WP PO PR
X°77 79w

2) ™
a) WOV DWIP PHMY PRT WHKR R 7MWY

b)  ™MIRT RTW 1T 92 7Rn2% AMR PPIRD PR DTR PR RO I21INT IWOR SR 0°2937 779080
"Q7RY

3) H"wann

a) 1" means that there is a separate 710°X even 2172 to be %°5&» to nwana of a 172 any
o°w7p that’s »1X1 for o8 N°OK

4) x"wnnn disagrees with 5"wAin

a) 1" agrees with *"wn and 2"yn that the m1o°x applies only on v"y because it counts
as 179w on 2w ar

b) xwp

i) Then why does 1" point out that the o>w7p to which >"w and 2"y~ refer are
O7X N9°IR? MR

c) y™n
i) 1" relies on this point only to explain why 0°2%5% 792K counts as 79w
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NOXNY TV " TN

57 012 AR DM Boy "o aw % Mph 3R IR IR 7ENnR 7Y 7''7a 'own
By '"9m2 1707 'R 23R RInn inm

BT MaTR BOY D 2192 P 7 By R RMIAT "D 30 ROV MBERY 7''N2
12057 7' 2T DY ans 3" Rar 'y "o 1pd havw B17a 3 ans oM
RARTT RIT RORIP IRDY 1995 1200 27700 Dovab 9xn Jup 70 R 19BRT 1Y

P1TY IR Y R oY "D Ny R RO KD TR
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:In Q7

17 N'UpT XN 2T NN 9T "wn nw TR 1 (eXan) a X N "

9% RO ORI KT 927 RN "D 2K NURY "D R N7 72 [2 7wy a7
RUINWNAT aNow PRYRWwA YMwassa Par 1P KA 92 R 1 9o "o aphT

BORYT K92 WNDD MWDK "D RWT 770N IND N7 Wb KON RTT RINR W27 2wn
HEY Y BN 2D Y 2190 2w 392 P RDD 29 PORT

PR D"op "D mow 39Y 2 2 2T MR POINT 19 7992 oopY 10 an 7''Na
MINT PR RAYY IND R 719092 oY w''ya 19970 Al IENIAT Y9 2vaw antaT
T RN

X ROR 1D IR WORYT avbn XBUR 10 'R nyTw b1 wasp R'Maw 7''Na
SPYIAT NP 2 MR ApR ROTTR V'RTD 97 ORTY RSy RTMY NRTM 9on RnTD
N2 779D DUWOR PIORY IR XD 2 212 TOKRDR MONRT IRAT2 1IONMEDD
IORDT RNWST 91 MWD WAT ORM DHT RAT O"wN nyTw 1 0 X'"awn
ROR JTORDR MMOOR 2127 152 NIDRD I RHT R0 D' WK YA OR NN
"N B aw 7% RIS AR D'RY "D RTR DOR RNTD P2 "D P2 ORT DWW 2wn

T2'1TY AR KD DIRYT N DRI

1) nwn
a) ToRw

1) What is a person to do if on oo he has an xnw 70°y from which he’ll need to
be 750 won to a 11>

(1) He can’t be no1x the 70°y because the " ox isn’t for wn1 521X since neither a
3T Nor a 37> can eat it

(@) The 11 because of its 7%n ow
(b) The 375 because of its axmw 177
(2) He can’t be M the no°y because 2w 01°2 WP PO PR

(3) He can’t be nnwn the »x until 29y after 21 oy since the 7o°y might
become y»n in the meantime and he’d be 87 522 72w

b) nawn
1) avmEpIme .y
(1) yonnn R2w >72 19%2 2°vn and he’s then 7awn the ooy until 27y
i) moR "M
(1) 1t’s mox to be mrwn the [o°y because yonrn xaw

(2) Instead he must be 7918 the 70°v on v"y before aw n»9p as we’ll explain
further below

i) ywr
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(1) The reverse is true

(2) The person should right away be 71 ow &7 on the 7o°y because then he
can be 7mw the 1%n until 27y without being 22w on R~ %2

(3) Because once a person is aw Xy the 7% is no longer his and the rule
applies that "o°nR Hw 7817 IR DR 7R 0K OR TR

2) X at n AT
a) ToRw
i) Can we say that

(1) both 213°9x '3 and ywi " agree that once a person is ow Xp the 7o°y no
longer counts as 1Mmnn

(2) And the npYonn between T1¥°5x ' and ywy ' is that:

(@) 7rv°ox " holds that the person is &7 %22 72w if the no°y becomes ynn
because

(i) the person owns the nx37 n2w to select the 375 to whom he’ll give
the non

(i) and nx17 n2w has a nan 17 that counts as 12w for nxa 92

(b) While v '3 holds that %37 n21w has no 1m» 17 and that’s why *w
ikl

b) nawn
i) °n1°o7 X that this 791 can be correct
il) but it’s also possible that

(1) 2rvoox ' agrees that 1an m0R 7837 02w and still the person is 72w on 92
78 even after aw nx»1p based on "> xy1" the 791 would again be Yow if
he’s PR on his wnon

(2) While yuni " says that not only is 17mn 7R 7837 n2w but also we don’t
say that "mn min Swnon va R R

c) Note that
i) These o*o%nn
(1) explain why for vy "1 he’s not 787> 522 72w

(2) And since he’s not 21 012 19X we also understand why the person isn’t
721V 0N 210 02 7OKRPN MK

ii) But the 0°3%7n aren’t enough to explain for 213°%% " whether

(1) He’s mo &2 210 o2 19 because it’s more important that he not be 22w
X7 922 than that he not be 121y an 7ox%» M0°% on 2w ar
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(2) He’s 702 2w 012 1o either because of the &720 of &95 that we’ll bring
next or because of the X120 of &»nn 92 °»1 based on °Ry1 that we’ll bring
following x55 27

3) X at.nn a7 as explained by >"wA
a) N99 2
i) The nmp1 of the np1onn between a1y 5% " and ywine ' is that
(1) 139R " says
(@) Part1

(1) it’s °mn for a person to be 19k the 7o°y on 2w oy before aw nRAp
because the 70°y counts as wo1 Y

(i) because as the person bakes each :10°v before aw nx>p he has in
mind that “this 70°V isn’t the one that in the end after all the nyox
I’1l be w>on to the 372 so this 70w is 72°o82 M to a r

(b) part 2

(i) and because he is 79x the no°v right away there is no ym and
there’s no 87 72

(2) yw ' says

(@) In the end the person will be w>9 one of the m>n and for that 7% he
did an 21 o1°2 X that wasn’t w91 921X 7%

(b) So the " ax isn’t w1 H2R 7% and is Mox and the only possible 72mn
is to be ow x> before Y n and to hold that after aw nx>p the novw
doesn’t count as 17w and there is no Mox of X7 92

ii) Note that for the u>w of X9 21 neither 21°%% "1 nor vy " relies on &y at
all

b) &nrm-2°m
i) Xwp to &oo 21 as explained by >"wA

(1) Why isn’t 713°2x "1 concerned about the point of ywy» ' that in the end the
person will be w>on one of the m>n and for that 7351 he did an 2w o2 oy
that wasn’t w91 92X TX5

i) Must be that
(1) The 71p1 of the N2 between 21°%% " and vy ' is that
(2) 213°9R ' says

(a) Although we know that in the end the person will be w197 one of the
non and for that %1 he did an 210 o2 »>ox that 771822 wasn’t 71¥5
o1 DN

(b) still
(i) Because of 2°x17 the " ox even for that 7%n counts as wo1 991X 7%
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4)

5)

6)

(if) namely

1. 1 as he bakes the mbn for which he wasn’t yet aw xp the
person could have been w57 to the 3775 a small piece from
each and every 79m and leave the rest for 79°ox by a 71 who’s
not 1mn on ARy

2. All of the nvax count as wo1 791k T11¥>
(3) ywr " says there’s no °Ry1 1°7
C) "n7° ' agrees with &ni 92 o171 that 915K " relies on XN won *v2a R DRI
d) X711 disagrees and says that 2rv°9& "1 doesn’t rely on X
e) Nwp to X1 " as explained by >"wA
i) For X1 ' what’s the nmpa of the npyonn between a1y°5x ' and i ™

ii) Since without X317 it turns out that there ought to be an "»sx m10°x based on
the one 1150 that the person will in the end be w97 to a 113

*"wa at .o a7 at 12 RowpT ’nn a7
a) X°wp on “why not say that 213°9% " relies on 772 PR2”
i) Why doesn’t the X3 answer that the np % is whether 11an 7R3 naw
i) Namely
(1) 2rvox " holds that

(@) Although we don’t rely on 2°X171 and so a person who’s 112 798 will
be doing so wo1 701k 77x% X>w and will be 121w an vy 7o%n MoK

(b) Still despite the mo°x he must be 791% on 21 o1° because m» 7RI DAY
and it’s better to be 121v an 719871 MO°KR on 2w o1 than it is to be "2w
X7 922

(2) While yw1> ' holds that 1n 2ok 7837 02w and the person can be 7w
until 29y without being nx2° %22 72w and in fact needs to be mmw until 27w
to avoid being 12w on an 7ox%7 MO on 2w o

b) v1n of “it can’t be that a Xin prefers an 2>7°2 MOK”

i) The X°wp to X1 ' is that it can’t be that 2139 ' prefers that a person be 121w
an 7aR%n MoK on 2w o than to be ax7Y 23 72w

i) Because the result would be that the person is 2>7°2 221w on an 72X%1 70°R 0N
2w a1 in order not be 121w by 7wyn X 2w on AR 72

Xn12at .mn g

a) Xwp of "7127%" by oK " to ywin
i) Since you yu1° "1 don’t accept the &720 of X7 to be % °nn in 2w av
i) You’re forcing a person to be 22w on X7’ 2

X2
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7)

8)

9)

a) Nwp

i) Why doesn’t vy 1 answer that the person isn’t 77> %22 121w because
vy holds that the person was aw x7p on a particular 7%r and

(1) Because ¥y " says 1mn 10K R3T N2 and also doesn’t hold 2 K DR
oW

(2) the 191 doesn’t count as awan for nx 92
b) v
i) ywwr " in fact uses this y17°n as we pointed out earlier for the 7awn
X" at 17 XowpT XN a7
a) Nwp

i) To the x>wp of 1277 by 139K ' to ywi " at the stage when the & 13 doesn’t
yet realize that yw1» ' holds there is no 87 72 M0°K

i) Why doesn’t vy "1 answer similar to what >"w~ said before for 213°9% " in
answer to “why not say that 213°2x " relies on 7712 PR2”

iii) namely that “a Xin can’t prefer an o>7°2 MOR”
b) y1n
1) Must be that

(1) The correct answer for 213°%x ' to the ®wp that “why not say that 213°9% '
relies on 77°72 PRa”

(2) Isn’t that “a Xin can’t prefer an o>7°2 MoO°R”

(3) But is instead that the 7191x does have the x> of following the nvw of 12
X7°na to be Svn the 7o°w in X

ii) in fact we’ll establish shortly that m»oin says the nxy of %2 75w should be
used where there’s no other way out

*"wA at Xnhy 09127 X7 "7 at the start of our x0 at a7
a) °"wn begins the m2a°7 with these words

i) The reason that 9rv°%& "1 is dX °ni on 2w o1 is that X3°R X7 &7 937 00"
"R M IRD R N

R"wIn
a) Note that
i) "wA here refers to the nv>w of k95 27 that doesn’t rely on 2°X173
ii) But
(1) from the 7wnn of the words of *"w as explained below by msoin

(2) It’s clear that >"wn relies on the fv>w of &»r 92 °n1 who does rely on the
SR that "X7m X770 997 RNMD ¥¥2 ROKX 7902 X770 w00 RY v X"
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10) mooIn — X2 by X"awn to the wnn of the words of >"wA

a)

b)

c)

xowp of >"wA
i) why is it important for 21v°%& " that the person not be aw x> before the "»sx

i) when even after he’s ow XM the person can rely on the of xn719 ¥yx¥2°*va X on
the basis of a second °x17 that >wn» *ya °Xk on his aw nx*1p to be again in a
position to be xn7» y¥a

first y17°n by "3 — "2 explains that this is also the y17°n of *"wA
i) 1It’s preferable to resolve the 2x» in the mwn with as few 0'>°x17 as possible
i) xwp by *"3 to the first y1°n
(1) Then where ow x1p X7 why does T13°9x "1 rely on yx2 >y2 °RT 2°X17
(2) When he can rely on the nvw of x71°n2 j2 that 111%% v
Second y17°n "2 v " by "

i) It’s not m°>w to be Hxw on nwnoi and we don’t base 2°X37 on an act that’s not
mow

i) X°wp to the second y1°n
(1) Even though Swnon sy2 R 2R is mow R

(2) The xmx for qryoHx " relies on Ywnon v >k 2°X17 to make 17%n count as
1nn with the result that he’s 7X7° 922 72w on 79

i) Y170
(1) We’re 7m0 on a moow K97 >R where this is a v and results in yan
counting as his 1mn for the mo°r of 71X 92

(2) We’re not 7m0 on a mow K27 R where this is a X9 and results in an
DR counting as wo1 YR 7xY

11) Here’s proof that there is no 2°X17 for an action that’s oW &

a)

b)

Part 1
i) ovonan? for each naw is typically baked on Friday

ii) but where v"y falls on Friday the o*1977 on® is baked on Thursday because on
v"Y it’s MoK to bake naw %>

part 2
) xowp

(1) why not bake o°19:1 an on Friday 21w o1 and avoid the 10°x of baking
from 2w o for naw by relying on &y that a person can be o°15:7 an® 771
from wpn and eat it as 1711 on Friday

i) yrn

(1) must be that we don’t say 2°x17 for an action that’s not mow
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c) part3
i) Xwp
(1) maybe in truth we do say ?°x3171 even for an action that’s not mow
(2) but in the case of o°1977 an> there is no )y altogether because
(@) ™72 applies only until the o°15:71 an® is considered WP

(b) And presumably as soon as 0°1977 an> is baked wTpn Sw MIn2 it’s
considered w71 and can no longer be 17752

i) 1N
(1) In fact o977 on» doesn’t become N2 WP
(2) Here’s proof
(@) If o>197 o were M2 wIpM
(b) Then
(i) when v"y falls on Friday and o°15:7 an% is baked on Thursday
(ii) the o°1977 on? would have been n2°%2 Ho91 on Thursday night
12) x"wonn
a) Nwp
i) Even the standard 5% on Friday proves that jw7pn 210 1R
ii) Because otherwise there should be the 712 on naw %°% should be 501
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7"19 WA X N TN (Awn) wa N N M

Bop "2 Yows 7Y% JRAWRR Y DMWNR WA R IRYT R N0 W2 R YN 7''72
9T RNT OO RDT 190 NP DINNT AR RDT DWY 1200w RN ONT? 19N
TDW RMOI I WYR NP 92X RO PAR AW NROIPR 770N MBDRD PN ahnnod
TRY DMRNR WA OR BIRWT 2N TAYITA XN 7MY RIV NP NTY IR 9N

SrAAR R e

RY RNIRT 09PD 77200 7' AR Doy 10 1R RY M1 23D w2 ORY BRI 7'Na
"D PRRNIR T2 PN T 257927 NI0 197 2YDRNTIR MVIT IR MWYN NIBN INP
»'1Y77 7123 DR IR NN DARK RPN ORP ND:

1)

2)

3)

4)

5)

First 7a7pn

a) there’s no 17 of % 2 for wpn Hw ynn because we’re w7 that R 0K X THw"
"7123 PWY 2R YW R A0R DaR

Second 7P
a) In the prior m2>7 we established that

i) aperson is X7 92 12w for an no°y that became yn after it was an> nwao1n
even though it’s YW 71X

i) MW MM Ay Dwnn vva RT 2RI
Third nnTpi

a) Based on the word "oonxn" a person can be nxn N2 7 XX on nos only with 17¥n
that counts as 17w

b) Now
1) °Rn " says that *1w wyn is max pnn

ii) It follows for =°xn " that a person can’t be 7¥n N2 *7° XY with 7xn of wyn
W

moDIN at "W oA oKX XRIT AT
a) Nwp
i) Based on wn *va °R7 2°R11 0N 1w nwyvn and wpa both should count as Yow
i) So that
(1) a person ought to be % N2 >7° XYY With 1w wyn
(2) and he ought to be %> %21 72w on WP YW yan
R"wAnn
a) Nwp

i) In the preceding m2°7 we established for the second y1°n of m»oin that we
don’t rely on 2wn>n *¥2 °R7 2°X17 for a 00

b) y»n
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6)

7)

8)

9)

i) That’s only to derive a °n>17 to take an action 7%nn3?

i) moown here asks that a person should be 7av°7 &%y with »1w qwyn nxn that he
already ate

Twnn of mpoin
a) 7170 to the Xwp on wipn

i) A person can’t be ?XW on w1pn that already reached 12 7
b) xwp

i) But certainly any person can be wpn p719 from [an >
X"wInn at P79 w2 R PRI 7"'R2
a) 7oRw

1) Why doesn’t m»oin also ask that a person should be xx1 with *1w wyn
because p»9 *v2 R X7

b) nawn

i) This isn’t a X>wp for the 9nx7 181 Who says that 1w qwyn is v XKn»IRT N
0°%w17° and can’t be 7791

Twni of mpoin

a) Here’s another y17°n on why there’s no nx7* Yva for w7pn based on >ya °x R0
»>9: Nobody will want to be P75 what was ynnni

izl lirialy

a) This y17°n doesn’t apply to the &wp that a person ought to be xx1» with wyn nxn
W

b) Since if the *3w nwyn were y»n there’d be no issue about whether a person can be
X7 N2 07 KXY with the »1w qwyn
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'wUTRINI A" TN

"D TR RIT AN TPOUR QMM 290 BN "WAT PRT 2172 "o ' PRy 1''7a
P72 WIR KUY VA2 WADY AT 2372 DR NP A9 2wnT 190 ' Doy
7aTR IR MMIT NRUM IR TP KU DR M2 KWT PRI 1A 1'RT AR
wanh P77 212 5D BUWAIRY ROYR 2WMY MM522 Tiayn KD 2% NN 2Mnn
RITT ORTY R77 9% 329 777 PRI 20D DRV IN 79I 7' ROR 7102 ™R MKRT
DRUM IR TP WP IOV RITI2 ORNES 22D RWT 2OWTIPI D52 Tayn RYT IRD

:2'"97Y 020 At WP 1T

RDORT 207 5"op "D UMD MR WIR TV PP KD TOURT IRDR DaR 7''Na
SINPY STORWR RNORT T T TODTD KRN ONRT ORP KD R7IT 02000 RO AhRRwa
Y% M7 R®Y RDID2 INPT VIR OV MT ORMBR KON whd 3T RWR KDY B
PITT TIT 71T2 AN BNy O"nh ;19 NPy UKW RNORT MR NPT RN

BTy TN PRI

7773 2h77 DD 2ON27R 11D AT IR PPV IR PUR D IR 20RDD YT 7''RA
B2 "o "D AT Y9N b 9o
1) mwn
a) Rw™M
1) WY Innw own Doy 1% TR 270 wn W
i) ...2Wwara .. 2w I MAM MW W
b) xo0
1) 21 MN2pa 22
2) ""wvn
a) WM M
1) 71025 WP H1 101 TNW 1022 TIAYN KD DWN 1A WIR RITW MW DY 12w
i) 7292 717 RD DWW N2 NI PTA WIR RITW NANT 9
3) X at .2 a7 mon
a) noRw

i) Why doesn’t the mwn add that if he had made a 7¥12w not to be w=r on v"y
he’d also be 723w on 27 510 52

b) nawn

i) maw is subject to aoRw

i) The miwn doesn’t count X7 that are subject to 7oxw
c) Nwp

i) Then why does the mawn count w7 towards IR
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ii) After all wp is subject to noxw
d) yrn

1) The mwn deals with the 7w17p of a 2102

ii) and the mw17p of @ 122 can’t be removed by noxw
e) Nwp

i) Then why does the 7w in the &9°0 count =°11 even though nm9°11 can be
removed by 7oxw

4) mooin
a) Xwp by " to "wn as explained by RX"wn at Har 1"'7

i) For the nvw of »"w that the 7awn lists 7 in the xw because one of the
eight 1x% is 72wn

i) Then
(1) Since 7%°vn is subject to 7oRw
(2) the X3 in mdn noon

(@) should have proved from the listing of =1 in the &w» that the mawn
deals with x> that are subject to 778w

(b) without waiting to prove this point from the listing of =°11 in the x5°0
5) Twnia of mooin
a) "
1) "NROMIR 7Y RN OR 72OV DIWR 2000 DM MWAT priT oI
b) %"wnan and x"wann disagree on the meaning of the words of >
6) 01 of H"wnnn
a) "7 means that
i) since
(1) contrary to the X1 X%pw in Mon noon

(2) *"wn says here that "o>w7py 11 am wa" in the qawn refers to a nn
that’s n°277 P72 *w7p for which the % can’t be Tavn X2 and is instead 72°vn
that’s subject to noxw2

ii) then
(1) instead of saying that by "w" the mawn refers only to a mw that’s a 7132
and is 7oxwa xn*H

(2) »"wn could just as well have said that by " the niwn refers to any j27p
since for any j21p there is a % of 77°vn as well as a 18> of 12vn &>

7) Xwp by ®"wann to the 720n of 2"wonn
a) °"wA never said that the = means only a "132
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b) in fact we saw that >"wa emphasized that the m1o°x of T12vn X% applies to all maaap
not only to 722

8) o2 of X"wann
a) "1 means more simply that
i) Since *"w" says the mawn deals also with 7%°vn that’s m5xw2
ii) "w9 need not have said that
(1) for the 2w he’s 2> only for Mavn R
(2) and that the 7 is n°277 P72 °w7p and it’s for the M there is a W2 of a2°yn

iii) instead >"wA could have said more simply that for the " itself he’s 2»n for
both 7avn &% and for 7%°vn

9) Twnn of maoin
a) °"1 says that
i) It must be that the mawn omits the w5 of 77°vn

i) Not only because 12>y is 772xw2 but also because of another reason that >"9
doesn’t name

10) 5"wan and R"wann
a) noRw
i)  Why must there also be this other reason that >"1 doesn’t name
b) nawn of 5w

i) It must be that there is this other reason besides i>xw why the mawn doesn’t
count 72>y as a potential 7

i) Because otherwise

(1) at the point when the X3 in man noon didn’t yet know that the mawn
doesn’t count x> that are subject to 7oxw

(2) when the 3 asked “Why doesn’t the mwn count 5 a for ayaw”
(3) why didn’t the x 3 also ask “Why not count 79°yn”
C) mawn by X"wann

i) It must be that there’s some other reason besides n1>xw that the 7awn doesn’t
count 72>y as a potential K7

ii) Because
(1) at the end of the x*»0 in mon

(2) the xa proves that we do count x> that are subject to 7%xw since the
mawn counts 71l that’s subject to TYRW
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"y Mo”1 awnd 2"

By 13 RT7 T R R WP MW 0 't awnD T2 ['2 Ty R nT)
$9''™Y 3N MW R 2V 22 TRWONDY RIT ROTD PWHT KON RIT RXION

77 9oy "2 VT IRD ANTN NOIST WY NWT RO TD 9% 70N TN TU'R2
"2 M090% MY BOIRAT 29MH RDT TPIDT WO 92X YD 907 MIWPRD RN RO
ST STROND 923 N7 R WM THWRD RWIP 2R ROT IT RIWIP 1000 KON

BBy XN IR WS

AT 2'Op "2 MO9IT RYOIR2 @O OR 29917 N2 wans TR NN mawnw 7N
RPN RPIT W7 773927 2D WRTD 99 IO KDT 23 DY AR 2997 7RO 20D
T2 PORY 73927 "D AW "SI0 w0 BITINRW 7oRDR BT WD 92T RYINAT 9T

;27T 779021 925 1APD I WD MIRD MMBYY 1719997 RYIND RO RBPIND

5oy "D R"Y2 D UWRT RUNR R 9% 1'12 W vy 27 vl Ny 7''R2
BIRIT2 WDRY 10 N9 MOR 2V 2 2IMWAT D RAWT TONPTIR POOKRT 11907 PR
A'5Toa Tnvmh RDOR A" 7O MRDD TR NN 2 TOD IRR 2ORDD MO 2WH

"7 DORNT 217 2IRDD2 [UDn] KD I5RY W R 2 2192 RN

1) mnpn

a) 121 says there is a 17 of X1

b) X7om 21 says there’s no 17 of X
2) mwn

a) A person who’s MM w2 wn on 21w o1 can be 12w on eight x5 including the
MoK to do 7oK%n on 2w 1 and the Mok of 2°Kk%>

3) XM
a) Nwp by &70m 27 to 72
i) If we say X1
(1) There should be no 2vn for qwn
(2) xn
(@) if the wn needed 1oy for 119°x 07 "10°

(b) The nwn that would produce the =5y would be 2 since the fwy of
0777 »10°2 would be im7 the 118> that would otherwise be qoIx the nwn

b) yynof man
i) the case involves a wn in a 77w of o°1ax
i) o°12X aren’t fit for 77 "10°>

c) xwp by the ywpn
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1) but the o*1ax can be made fit for o717 »10°2 by nwn>
d) yynof manas explained by X"wann at 210 01°2 fwend "7
1) "W nv"raawena" meaning

(1) You’re right that the 7w n would be 2nmn based on %°x17 if 19y were
available

(2) But where only o°12x are available and 29y can be produced only by mw°n>
(3) “of course 210 o°2 AW°NI isn’t MW

(4) so there can be no o771 »10°2 anyway and there’s no &7 that would be ~nn
even the 7w n

e) Further x>wp by &70m 20
i) The o°1ax are 7> XY JWwWNO? NM"MXI in a way that’s not 21 212 MOK

ii) So the 7wy of o771 »10° would be 7m7 the Mook of v"va qwnevenina 7w
0°1aR

f) The yyn of the X na isn’t relevant to this X"w-nn
4) mooin as explained by X"wAmn
a) First xwp by 8"2
1) "727 79 °Kkn" - How can 127 ask to X7om 27 that "aw o v"va qwend"
i) When just as X701 27 asks that 7w should be an based on &

i) 727 should understand that x7or 27 also means to ask that 7w n> should also
be ann based on °x17

5) X"wmn at qwona "

a) The words of 721 that "> w °» 2w ora qwen>" are really a y17°n by 121 to the xwp
of x7om 27

b) mooin refers to them as a X570 — 1721 7> °kn — because 727 expresses his y1°n in
the form of a x°wp [stop]

6) Twni of mooin
a) Second xwp by X"2
i) How can &7om 21 ask that

(1) because of o°x17 there could be a case of ™% o7 where the nwy of o7 "0
would be 7m7 the 7ox% M0°K on 2w ar

(2) there should be no 7w n2 7o} on 21 01° even when there’s no MdX 07
i) when
(1) Even in a case where there is actual m9°¢ a7 and there’s no need to rely on
ORI
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(2) The nwy of m»°¢ a7 "2 wouldn’t be m7 the nwyn &% of 2w ova wen> for
two reasons

(a) Because of a special rule that no 7wy can be nm7 the nwyn X of 2w ar
(b) and also because
(i) the 728%n M0°% on 2w oY counts as both an 7wy and a nwyn X7
(i) and nww qwyn 8L 0MT WY PR
7) R"wann at ®»°n oo 7"R2
a) Nwp

1) X"27 should have asked his second x*wp to X701 27 as soon as X7or 21 asked
that for 727 there should be no &% on 7w n based on &y there could be o7
T19%

ii) Since for w7 on 2 o1 there should also be no »17°7 even if there is an
actual mox o7

b) y1n
i) In fact the second x*wp of x"2> applies to nwn as well
il) X" prefers to express his second xwp to 7w n> because
(1) his first x*wp applies only to 7w°n> namely

(a) why 7127 wasn’t 7771 to X701 21 that based on 2°x17 there ought to be a
ws for wend

(b) the same as 1727 was 771 to &70m 21 that based on °xy there ought to
be a mw»s for nwAn

(2) and

(a) since both his first x*wp and his second x*wp are answered by the same
7170 that mooin will bring from o"awA

(b) mooin by way of short-cut refers in the second &*wp only to the word
7won> that is relevant to both nvuwip

8) Twnn of maoin
a) y1°n by o"awn to the two nywp of X"a™

i) First nnpn
(1) A 7913 127 PRY 79K97 IS Mwd on 2w ar
(2) A o1 that’s 719132 712°7X iS 21 0n 2w O

i) Second nnpn
(1) nw~n for o7 107 counts as a oY 77X PRY 7OKM
(2) 9y nwono for o7 *10°0 counts as a oMY 13RW FIRN

iii) y17°n to the nrwp of X"
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(1) This is what 1721 tells X701 27

(&) You must agree with me that based on the second xwp of "2 you
can’t base a X°wp to me based on 17 of an 7o8%7 70X on 210 oY

(b) Now

(i) Although you can ask your x°wp on w1 based on 7w being a
DAY 719°IX PRW 7oK

(i) You can’t ask the same X°wp to me on 7w n> since nw naisa maRM
TOMY 13X

b) xwp by " to the y1°n of o"awn

i) the 7o of 797 707 PRW 7871 applies only where a person is 2931 in his
own n»a and is 7p%pn

ii) but where a person is wmn in his own 77w he’s 2”1 even if there’s an actual 07
719% that needs a "0

iii) so the xwp remains: why does &7or 27 ask that there ought to be a mw» for
N

9) X"womn at mawnw 7"Ra
a) y1nto the xwp by " to X70m 29

i) The person who by nwr is 29y 1917 for 071 10°2 is Mo because the 7o is a
TION7 TPRY 7K

b) x27°0 to this y17°n and a further xwp to X707 2

i) The n9m is certain and counts as v °05 where there’s no Mw» for 70X
TN TPRY

c) xwp to "y and a y17on to X707 27
i) It’s understandable why x70m 27 asks that there should be no Mok of mwn

i) Since we can say that the mawn deals with y°an 77w2 w7 where for a reason
not relevant here it’s a mu wo that the 77°91 counts as 79137 72773 PRY 7oK1

d) yrntoo"sand a xwp to X707 27
i) Since the mawn wants to count as many 118> as possible for mmm w2 wnnn
i) It’s 7anon that
(1) the nawn deals with a situation that has more 1X> rather than less x>
(2) namely where the person is w17 in his own 77w instead of in »°an 77w
10) qwnn of msoin
a) y1n of anran to the second &*wp of X2
i) Partl
(1) when &7o17 27 asked
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(@) “if there is a 2K 17

(b) the mwn shouldn’t have listed a 2vn for aw>n since based on 2°xy1 that
there’d be no mo°X if there were 7% 07”

(2) x7017 21 didn’t mean that

(@) there’d be no 210 o1°2 7R MK if there were 70X 07 because the nwy
of o717 "10°3 would be 7m7 the 7ox%1 Moox of 2w o

(b) since x"2» is correct that there can be no "n7 of an 7ox%» Mo°R on o
bl

(3) ®7017 21 instead intended to say that the 71w shouldn’t have listed the 211
of °X%> Mo>X based on 7°x3177 the 7o°) of 289> would be 7171 were there
9% 07 for which »10°2 a needs to do 0> quickly — without delay even to
untie the 1w from the 71n — before the 119°% 07 is ¥ppa voaa

i) Part?2
(1) When 1321 answers " *» 210 o2 qwend"
(2) He means that

(a) since the mwn in any event deals with where the 7w n> happens on ar
2 and there’s no 17 of 21 o2 7ox%1 Mok for the two reasons that
X" explained earlier

(b) the mo>x of o°x%> would also not be 11772 since the 7ox%» Mo°x on o
2w would forbid the 7w n> anyway even where there is actual m»°x o7

iii) part 3
(1) xwp
(a) Why didn’t the X3 ask *w *» v"y2a nwn at the start
(b) since

(i) just as there can be no "7 of o°x%> because the Mo>x of nwn>
isn’t AT

(i) for the same reason there can be no i1 of o°x%> because the mo°x
of w N isn’t AN

b) v

i) n2nrealized that he could have asked *aw *» v"y2 nw i from the start to
explain why the mo & of o°X%3 survives on 21 o1 despite the 17 of )13

ii) But 7778321 70 2723° he preferred

(1) to deal with other aspects of 2>x37 first as if the mwn didn’t deal with
where the nw»n was on 2w av

(2) and to ask his xwp based on 21w o1 only after the X1 X2pw turned to
N

11) X"wmn at 72rn2) 7"
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X°wp to on 1M
i) Once 27 in the end says "9 *» 21 012 "wen>" and we realize that
(1) there can no "»>n7 of o°X%5 because there’s no 17 of 210 o2 AWw*IN

(2) the same as there can be no i1 of o°k22 because there’s no 7 of AW n>
2 ora

i) How can x7o17 21 later ask that "7> anx jwn12% Pxva"
iii) Since
(1) even if 7 AR w2 is

(2) There can still be no "n7 of 7w n and this is enough to force us to say
there can be no »n7 of the 1o°x of o°x%>
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WD M52 7792 290D RITT M52 TN VYRRAT M1 DD RO was KUK W 72 2300
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1) oo in HRp° 190
CYRRE s aRiaRaishdrivzal
2) Xn»™2
a) 1027 DR R W
b) wyna nR X2 DR
3) "wn
a) The xn»1a teaches that 722 and "wyn can’t be used for 70 129p
4) mooin —ww of "
a) The xn»12 teaches that 7122 and "wyn can’t be used for noo 2P
b) °"5 adds the following words
i) "ooan aw b2 2°n57 oD YNwn RIp ORTT"
5) %"wann and X"wann disagree on the 7am3 of >
6) °"waan
a) °"1 explains that the p10o uses "nnx" that’s 172°p1 W to teach that
i) anod127p that’s a 121 can be brought only from 191m

(1) similar to the 59> that every 1277 that’s a 72°p1 can be brought only from
Liiraly]

(2) since a n2°p1 can never be 7911 with the 7w P of a 1102
7) X"wann
a) two nrwp to 2"wnn
i) First xwp

(1) The x7m3x says that we’re 32 vynn from the word "7w" and not from the
word "nnx"

i) Second x*wp
(2) >" never even mentions the word nnx
b) xipon of X"wAan
i) " means to prove that "7w" in the xn»92 refers to nod 127p
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(1) and not to 7°nn 127 even though 7°»n 1279 comes from aw> that’s the same
as nw

(2) and not to ™12 even though a =122
(a) besides being brought from "W and 1v
(b) is also brought from aw> that’s the same as 7w
il) here are the n1°x1 on which *" relies

(X 112 "TM2) TN (71 '1m2) 22 (7132°) oD
i7p) M M2 naR n*a? aw
2wd M2 o°nn v

Y02

(1) The mo» deals with nos and not with nn
(a) Because for rioo the oo uses 7w while for 70 the P10 uses aw>
(2) The s deals with nos and not with 1102
(a) First
(i) Because for oo the oo uses 7w while for 1102 the 0o uses aw>
(b) Second

(i) Because noo 121 comes only from nw while 1122 applies also to
T and 1y
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